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)��*� 
�
������$ &����������� ����
����� ������������'�
� -��	 
��

������	 ��� ��
������������
�� ������������ ��	
���	$ D�� ��
����
�� � �!#� ���� � *���3��
��� %%& �
������'�
� ����������� �����(���
��
������� ���
� ��������� ������� ������������ �������� ��
������
����� ��� )/%%& 
 
���������
 ����
��
�	 ����������
�
�� 
�����$
&������ (� ���
�� ������������ ��
���������� �����(�� � H/%%& ���
��'� ��������
�� �����
�(��
 �����	 ���������
��	 ������$ D��
�
����� ��
������
�� ���
��� � �� ����� 
�������� ������������ ��
�����
�� ����������' ���
����' 3���� 
�(�� ���*������ ?
���������
��	@
��
������	$ &�-��
� )/%%& �������� *���� ���
��������	 
�����'
��� �� 
��
�*� ����
�������� ����������
�� ��� � �� ����
��������	

��(��
�� �� �

���������$

/ �2�# ������� ��
���� ��������� H/%%&� � � �2 # � ��������� ,%�
%& -��
�������
� ��	
����
�$ / �24# �����*����� ��
���� ���������
)/%%&$ &�
���� �
��������
� ��� ����
�������� �����

��� 
����(��
9�� ������������� 
������ ��
�������$ &�������� 
�������'9�� ���
��� ��
�������� ��
���'�
� 
�
����
 ������ � ���� (� ��	
����� �*��
�����'9��� �����������' ������' ��� ��������� -��
�������� ����
�
�����$ &�
���� ��������� 
��������� %%& 
 ��
�9�' ��������� �����
�����
��� -�����������
��	 �24� 2�� 2"� 4<#$ C���
 �*����
� ���������

� ���
�(��
�� ��������� �� �������������� 
���
��� 
����
����
���
�����

�� 
��������
�� 
 ��
�9�' %%&$ &�-��
� ��
������� %%&

���� ���*��
 ���
����
�
 ��� ��� ������
��������� ��� � ��� 
����
���������� ����
�������� ������� 
����
����
��� �����

��$

/ -��	 ��*��� ����
� ���
���� ���*���� ��(��� ����� %%&� 
������
�� ������� � ����
����� ���
����� ���������
���$ &�������
� 
����



1 ������
�� �
���������� '��� -

����� ����
��������� 
�����	 � �*������'�
� �*��
�� �� ���
������$
,*
�(����
�� ����
 �*����
 
�(�� ���
�� ��
���� ��������� ��


���
������ %%& ��� �� ��
����'9�	 �������� �� ���������
��' -������
������
��$ )�'�
� ���
��� �
����������� ������ ����� %%&$ %�����
��
������ 
����'9�
 �*����
$ / ������� < ��������
� �
������ ���
����� ������ 
���	 &����� ��������
��	� 
����
����
��� �����

�� �
����	 A������$ F����� � ��
��9�� )/%%&$ / ������� 4 ����
� ����

���� H/%%&$ F�
3������ H/%%& 
��������
� ��������
�� ,%%&�
������
� � ������� �$ ,*���9���� ,%%& �����
����������
� �������
��
�� )%%&� ����������
� � �������  $ / ����'��������
 ������� !
��������
� ������� 
�������� ���
����� ���
����
�� � �*
�(��'�
�
����������� ������	3�� �

��������	 � �*��
�� %& 
� 
����
����
��

���������
$

�� �������� �����������

/ -��
 ������� ��������'�
� �
������ �������� �
�������
�� � ����

��$

���� �������  �!" 
�!#"

,
���� ������ �*����� 
���	 &���� 
�(�� ��	�� � ��� � � �"#$

�$#�%�&��"� ���� �*��( X + ��	������ ���,������ -�������
���������	
���� M ��� X + ������,��
� M : X → IN . ��	�� ���
|{x ∈ X |M(x) > 0}| <∞�

INX
f �*�������� ���,����� ���� 	������� �*�(�
���,���� ���

X $ )�� x ∈ X, M(x) � 	�������( x � 
�����
��(�
��� M $ D����
∀x ∈ X M(x) ≤ 1, M � �*����� 
��(�
���$ %������( 
�����
��(��

��� M ������
� ���7 |M | =

∑
x∈X M(x)$ &�3�
 x ∈M � �
�� M(x) > 0�

� M ⊆ M ′� �
�� ∀x ∈ X M(x) ≤ M ′(x)$ ,�������
 (M + M ′)(x) =
M(x) +M ′(x) � (M −M ′)(x) = max{0,M(x)−M ′(x)}$ %�
��� ∅ �*�����
���� ��
��� 
�����
��(�
���$

�$#�%�&��"� ���� 

�� �
��� �
�� + �&���	�

N = (PN , TN ,WN , LN ,MN ),

)��



������� ��	� �������������� ���� ����� 2

• PN = {p, q, . . .} + ���,����� �
�� K
• TN = {t, u, . . .} + ���,����� �
�
����� �P ∪T 
= ∅ 
 PN ∩TN = ∅�K
• WN : (PN × TN) ∪ (TN × PN ) → IN + /*�	#
& �
��� ��� ��,�*
������
 
 ���������
 
 ��������0

• LN : TN → Actτ + /*�	#
& ���
��� ��������� �
������
 �������
�
������ 
1 	������)� ���,����� Act = {a, b, . . .} 
�
 �
������
�
��������� �����
��
�� �
������ τ ��� �� Actτ = Act ∪ {τ})K

• MN ∈ INPN

f + ��������� �����������

H� ��
$ 2 ��������� �������
��� ����
�������� %&$ A�
�� ���*���
(�'�
� ����(��
��
�� �������� � ��������
�� � ������� ���
��� 
�
�
���� ��	
���	� ��
���'9�� -�� ��������$ H������� 
�
� � ���������
��
�9��� ����
 
 ��
� 5�� ��
�� �� �������'�� ����� � -��
 ��� ���*���
��
�
��6$ L������ ��
�� ��� ���*��(���
� �����������
� ����
�� 
��
�����'9�
� 
�
�� 
 ��������
� � �������� 
 
�
��
�$ D�����
��� ���

������
����� �������' -��	 ������� �� 
������
���'9�	 ���� 
�
��E
������� 5��� �������E
�
��6$ M
�� -�� ������
��� *���3� �������� ���
����
�����
� 
������
���'9�	 �����	 ����� ����$ A��������� ���*���
(���
� ���
�9����
 � 
�
��� ������ ������ ?��3��@� ������
��� �����
��� ����� ������
�� � ��	 
������
���'9�� 
�
�$ B�
�� ��3��� *����
3�� �������� �*���� ����
�����
� 
������
���'9�	 �����	$

a a b
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��� �� �� � �� ���� �����!������

%& N � �����������&� �
�� LN = idTN � ��� ��� �� ����������� %&

�(�� �
��'���� ������' ��
���� LN � ��
������ �
��� ��������� ���
��'�
� �� ��
����
�$ / �������
��
 ����
�������� -�� ����(���
� �
��
��
���� 
�
����� ��	
���	 � ��������� ���������$

&�
�� t ∈ TN $ ����*����
� •t � ����*����
� t• �������� t � 
������

��(�
��� 
�
�� ���������
�� ��� (•t)(p) = WN (p, t) � (t•)(p) = WN (t, p)$



3 ������
�� �
���������� '��� -

&�
�� M ∈ INPN

f � 
��������� %& N $ &������ t ∈ TN ���*��
� �
M � �
�� •t ⊆M $ C� �
�� ��� ����
�� �������� �� �
�� 
�
���� �� �������
� ���� ����� ���� 5������� ������ ��������6� ���(�� *��� ������
���
��3��� �� 
���3�� ������
�� -��� ���$ ,*������
 ����� Ena(M) 
���
(�
��� ���� ���������. ���*��
��� � M $

M
�� t ∈ Ena(M)� �� 
��*�������� -���� �������� ��
����� 
�����

����� M �� M̃ = M − •t+ t•� �*��������� M t→ M̃ $ C���
 �*����
� ���

��*�������� �������� �� ��� ������� 
�
� ���
�'�
� ��3�� � �������

���� �����
 ������
�� ���� 
������'9�� -�� 
�
�� 
 ��������
$ 0���

� 
�
��� � ������� �� �������� ����� ���� 5�������� ����� ��������6�
��
�9�'�
� ��3�� � ������
���� �����
 ������
�� -��� ���$ &�3�


M → M̃ � �
�� ∃t ∈ TN M
t→ M̃ $

H����
��� ��������� 
��������� 
��� N �� ��
���� 2 � ��������	
���
� �
�� MN = (1, 3, 0, 0, 0)$ / ��	 ����
��
 ������� t3� ��� ��� �
��� ����
������
 ������
 
�
�� p2 
����(��
� ��� ��3��� ��� *���3�
���*����
��� ��� ����
�� ������
��� � ��� �������� �����
� ������
��

������'9�	 p2 � t3 ����$ &�� 
��*�������� �������� t3 �� 
�
�� p2

���
�'�
� ��� ��3��� � � p5 ��
�9���
� ���� ��3��� � 
������
���� 

������
��' ���� 
�(�� t3 � p5$ >�� �������� � 

���MN �� 
���������
M1 = (1, 1, 0, 0, 1)$

A��������� M̃ %& N ����
,
�� 
1 ���	
���	
 M -��	 %&� �
��
M̃ = M ��� 
�9�
���'� ��
��(�
�� �� M 
��������� M̂ %& N ������
��� M̂ → M̃ $ A��������� M 
��� N ����
,
��&� �
�� ��� ��
��(�
�
�� MN $ ,*������
 ����� RS(N,M) ���,����� ���� ����
,
��� 
1
M 
��������� %& N � ����� RS(N) � ���,����� ���� ����
,
���

��������� 5���,����� ����
,
����
6 %& N $
2��/ ����
,
����
 %& N � ��������������	 ���� RG(N) 
 
���

(�
���
 ���3�� RS(N) � ����
�� ����9�
� �� ���3��� M � M̃ � �
��

M → M̃ $ )��� 
���� *��� ��
����� �
���
� 
������
���'9�� �������
��� ��� �� ��
����
�$

H� ��
$ 2 ����
������ ���� ��
��(�
�
�� RG(N) ���*��(����	 ���
�
(� %& N � ���� �������� ��
����� �
���
� ���������$

&�
�� n ∈ IN $ %&N n$�)���
�����&� �
�� ∀M ∈ RS(N) ∀p ∈ PN M(p) ≤
n� �$ �$ ��� �'*�	 ��
��(�
�	 
��������� �� �
�� 
�I��� %& 
����(���

� �� *���� n ��3��$ %& N �)���
�����&� �
�� ∃n ∈ IN ������ ��� ���
n�������������$ %& N ��1������&� �
�� ��� 1�������������$

%& N ,
��&� �
�� ∀t ∈ TN ∃M ∈ RS(N) t ∈ Ena(M)� �$ �$ �'*�	
������� ����
��
 � ��������	 ��
��(�
�	 
���������$ A��������� M̃
%& N ��1������&� �
�� ∀M ∈ RS(N) M̃ ∈ RS(N,M)� �$ �$ �� �'*�	

��
��(�
�	 
��������� 
�(�� �������
� � M̃ $ %& N ��1������&� �
��
MN � ����������$
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��� 
� #��� � �� ���� �����!������

&�
�� U ∈ INTN

f $ ����*����
� •U � ����*����
� U• 
�����
��(��

��� ��������� U � 
�����
��(�
���� ���������
�� ��� •U =

∑
t∈U

•t
� U• =

∑
t∈U t

•$
&�
��M � 
��������� %&N $ A�����
��(�
��� ���������U ∈ INTN

f

���*��
�� � M � �
�� •U ⊆M $ M
�� U ����
��
� � M � �� 
��*��������
-���� 
�����
��(�
��� ��
����� 
��������� M �� M̃ = M − •U + U•�
�*��������� M

U→ M̃ $

���� ��!" 
�!#"  "�'"�"!(#��)" %*'+)" " $#"(#"!�!+)"

,
���� ������ 
���	 &���� 
 ����*������
� ����
� � ����������
�

�(�� ��	�� � �� � �� �"#$

�$#�%�&��"� ��,� 

�� �
��� � ������������� ������ � �������
�
���� ���
�� + !�����	� N = (PN , TN ,WN , LN , HN ,ℵN ,MN). )��

• (PN , TN ,WN , LN ,MN ) + 
� K
• HN : (PN × TN ) → IN + /*�	#
& �
��� ������������ ��� K
• ℵN : TN → IN + /*�	#
& �������
��� ����������
H� ��
$ < ��������� �������
��� ����
�������� ;&%&$ ;���*�����

��� ���� �
�'� �� ����� ����(��
�� �
�
�� 
������$ &��������� ����
����'�
� ����� ��������� ��
���
���
 
�
���� ℵ$ &�������� 0 �*����
�� ���*��(���
�$

;&%& N � �����������&� �
�� LN = idTN � ��� ��� �� ���������
��� ;&%& 
�(�� �
��'���� ������' ��
���� LN � ��
������ �
���
��������� ����'�
� �� ��
����
�$ / �������
��
 ����
�������� -��
����(���
� � ��
��
���� 
�
����� ��	
���	 � ��������� ���������$

;���� ������� ����*������� ��� � ����������� ���*����
� ��
�����
������� ����
��
��� ��������$ &�
�� t ∈ TN $  ��
#����(��� ����*���$
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�
� ◦t �������� t � 
�����
��(�
��� 
�
�� ���������
�� ��� (◦t)(p) =
HN (p, t)$

&�
�� M � 
��������� ;&%& N $ &������ t 
���� ��1��!��
� �
M � �
�� •t ⊆ M � ���������
� ���� �� 
����'9�� �
����	7 ◦t = ∅ ���
◦t 
⊆ M $ C� �
�� ������� �� �
��� �����3����� �
�� �� �
�� 
�
���� 
��
��������� 
 ��
 ����*������
� ����
�� 
����(��
� ������
��� ��3���
�� 
���3� ������
�� -��� ���$ 0�
���
� ��� ��� ;&%& � ���������
�
5�
�'9�
� ������
�� 16 ����*������
� ����
� -�� �
����� -����������
�� ���*�����' ◦t∩M = ∅$ ,*������
 ����� Concess(M) 
��(�
��� ����
���������. 
����
� ��1��!��
� � M $ &������ t ���*��
� � M � �
��
∀u ∈ Concess(M) ℵN (t) ≥ ℵN (u)� �$ �$ �� 
�9�
����� ��������� 
 *����
3�
� ��
 � t� ����������
� �
�'9�� �����3���� � M $ ,*������
 �����
Ena(M) 
��(�
��� ���� ���������. ���*��
��� �M $ %
��� 
���������
����
����� ��� (�� ��� � ��� �*����	 %&$

H����
��� ��������� 
��������� ;&%& N �� ��
$ < � ��������	
���
� �
�� MN = (1, 1, 0, 0)$ / ��	 ����
��
 ������� t2� ��� ��� � ���
����
������
 ������
 
�
�� p2 
����(��
� ���� ��3��� ��� ����� ���*�
����
�
� ��� ����
�� ������
���� �����
� ������
�� 
������'9�	 p2 �
t2 ����$ &�� 
��*�������� �������� t2 �� 
�
�� p2 ���
���
� ���� ��3�
��� � � p4 ��
�9���
� ���� ��3��� � 
������
���� 
 ������
��' ����

�(�� t2 � p4$ >�� �������� � 

��� MN �� 
���������M1 = (1, 0, 0, 1)$
/ ������� �� t2� ������� t1 �� ����
��
 � MN $ :��� � ��� ������
 
��

�� p1 
����(��
� ���� ��3��� ��� ������
� ��
�������
 ������
���
�
� 
�
�� p2� 
���������
 
 t1 ����*������	 ����	� ���(� �
���
� ����
��3��$ ,�� ��
������� ��� ������� 
��*�������� -���� ��������� ���
�� �
�'9��� �����3����$ H� ������� t1 ������
� ����
��
�
 � 
�����
����� M1� ��
������ ����� �
���
� ���� ��3�� � p1 � ��� ��3�� � p2$
F���������
 
��*�������� t1 *���� 
��������� M2 = (0, 0, 2, 1)$ / M2

����
��
 ������ ������� t3� ��

���� �� ������
��� ��3�� � 
�
����
��
�������� ��� ����
�� ���(� � t4$ )��� � ��
� ��� t3 �
��� ���������
1� � t4 � ������ 0$ / ���������� ��������
� 
��������� M3 = (0, 0, 0, 0)�
� ������	 �� ����
��
 �� ���� �������$

&������� 
�������� 
 ��
��(�
�
��' 
���������� �����������
��'�
(���
��' � ���������
��' ;&%&� � ����� (�� ��� ��� %&$

H� ��
$ < ����
������ ���� ��
��(�
�
�� RG(N) ���*��(����	 ���
�
(� ;&%& N � ���� �������� ��
����� �
���
� ���������$

��,� � �(-� !�(#"" -�#(.!�( !�/

/ �2� <� 4# 
�(�� ��	�� �
������ ����������� ������ ��������
��	$
,��
���� ���
������ 
������ 
����(��
� ���(� � ��<� ��� 4�#$

&�
�� V � 
��(�
��� 3����������� �����
4 � 2V � 
��(�
���
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�
�� ���
��(�
�� V $ ���� ��*��4��� �����
4 ��� V �σ$��)���� ���$
���,���� V � � 
��(�
��� G ⊆ 2V ������ ���

2$ V ∈ GK
<$ A ∈ G ⇒ A ∈ G 5A � ���������� A6K
�$ A1, A2, . . . ∈ G ⇒ ∩∞

i=1Ai,∪∞
i=1Ai ∈ G$

C���
 �*����
� σ�����*�� � ���

 
��(�
��� ��
�����	 ����
������
�� 
������� ��
�� �������	 ����������� ����
������ � �*=��������$
����&�������� ������������ � ���	�� Σ = (V,G,P)� ���
• V � 
��(�
��� -��
�������� 
�*���	K
• G ⊆ 2V � ���� 
����	��� 
�*���	 ��� V K
• P : G→ [0; 1] � ����&�������& ���� �� G$

%����	��� �������� � ����
����� ��������� �������� ������	 ���
��
�� �� �
���� ���������� 
����� � ��� ������	 ���������� �������
��
���������� ��������
��	$

�$#�%�&��"� ��0� �*��( Σ = (V,G,P) + ����&�������� ��������$
����� 
�������� �
������ �
 � + /*�	#
& ξ : V → IR. ��	�&. ���
∀x ∈ IR {v ∈ V | ξ(v) < x} ∈ G 
 ∀x ∈ IR P(ξ < x) �����������

%/ 
���� *��� ��
������
� � ����������
�� � ����
�
�
�� �� ��
�*��
�� �����������$

L������ ��
���������� ��������
��	 ���������� %/$

�$#�%�&��"� ��1� !���"�� �����
�
�
��� �
��������
� �!# � ��*$
��4��4 ���
�
�� ξ �������&���& 	�	

Fξ(x) = P(ξ < x).

LF/ ����������	 %/ � ��������������� ���*���'9�� ��������
��� ������	 limx→−∞ Fξ(x) = 0 � limx→∞ Fξ(x) = 1$

�$#�%�&��"� ��2� !���"�� ���� �
��������
� �!$ � �
�	�����4

� ξ �������&���& 	�	

pξ(xi) = P(ξ = xi) (i ∈ IN).

!���"�� ��������� �
��������
� �!� � ����������4 
� ξ �������&$
���& 	�	

fξ(x) =
d

dx
Fξ(x),

���
 Fξ ��������� ���������� 
�
 �
//����#
�*��� ��
 ���� 1�����
&�
��)*������



4, ������
�� �
���������� '��� -

LA/ ��
������	 %/ ��
�� ����
�����
� � ��������	 ���
� ���
pξ = (pξ(x1), pξ(x2), . . .)$

L&/ ����������	 %/ �������������� �
∫ ∞
−∞ fξ(x)dx = 1$

)�� ��
������	 %/ ξ LA/ �
��

Fξ(xn) =
n−1∑
i=0

pξ(xi).

)�� ����������	 %/ ξ LF/ �
��

Fξ(x) =

x∫
−∞

fξ(y)dy.

A���
�����
��� �(������ � 
������ ��������� ����� ������	 ����
��������'�
� �������� %/$

�$#�%�&��"� ��3� $��
�����
���
 �	�����
 �$%� �
�	�����4 
�
ξ �������&���& 	�	

M(ξ) =
∞∑

i=0

xipξ(xi),

���
 3��� �&� ����
��& ����������
$��
�����
���
 �	�����
 �$%� ����������4 
� ξ �������&���& 	�	

M(ξ) =

∞∫
−∞

xfξ(x)dx,

���
 �*�����*�� 
���)���
∫ ∞
−∞ |x|fξ(x)dx�

)�
���
�� � A, �������� ��������	 %/ �� �� A,� ����'9�� ����

��� ��

����� 5���*��
����
��6 �������	 %/ ����
������� �� A,$

�$#�%�&��"� ��4� &���
���� 
� ξ �������&���& 	�	

D(ξ) = M((ξ − M(ξ))2).

)�� ��
������	 %/ ξ ��
���
�� �
��

D(ξ) =
∞∑

i=0

(xi − M(ξ))2pξ(xi).

)�� ����������	 %/ ξ ��
���
�� �
��

D(ξ) =

∞∫
−∞

(x− M(ξ))2fξ(x)dx.
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�

�
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�

pξ

Fξ


��� �� 6������ 78' � 79' ��������������� ����������
�� ��� ρ =
1

2

N���������� 
����'9�� �����
���7 D(ξ) = M(ξ2) − (M(ξ))2$
F�


����
 ���
��� �
������ ��
���������	� �
�������
�� �����$
)�
������� )������
���	�� �����������
� �
��� 
����'9�� ������

����
����7

Fξ(n) = P(ξ < n) = 1 − ρn (ρ ∈ (0; 1), n ∈ IN);

pξ(i) = P(ξ = i) = ρi(1 − ρ) (i ∈ IN);

M(ξ) =
∞∑

i=0

ipξ(i) =
ρ

1 − ρ
;

D(ξ) =
∞∑

i=0

(i− M(ξ))2pξ(i) =
ρ

(1 − ρ)2
.

H� ��
$ � ���*��(��� ������� LF/ ; LA/ ���
������
���� ��
�

���������� ��� ρ =
1
2
$

H���������� 3	������#
��(��� �����������
� �
��� 
����'9�� ���
�������
����7

Fξ(x) = P(ξ < x) = 1 − e−λx (λ ∈ IR, x ≥ 0);

fξ(x) =
d

dx
Fξ(x) = λe−λx (x ≥ 0);

M(ξ) =

∞∫
0

xfξ(x)dx =
1
λ

;

D(ξ) =

∞∫
0

(x− M(ξ))2fξ(x)dx =
1
λ2
.

H� ��
$ 4 ���*��(��� ������� LF/ ; L&/ -�
�������������� ��
�
���������� ��� λ = 1$
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�

�

0
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1 2 3 4

Fξ

fξ


��� �� 6������ 78' � 7�' *����
�
%����
��� ����������
�� ��� λ = 1

��0� �!(5+ !"�� 6"� $#(7�  �

/ �2� <� 4� ��� 4�# 
�(�� ��	�� ����������� 
����
����
��� �����

��
� ����	 A������$

&�
�� (ξ1, . . . , ξn) � ������ �� n 
����	��� ����
�����$ 
��������&
5"� ����������
� ���

Fξ(x) = P(ξ1 < x1, . . . ξn < xn).


��������& 5�� ������
� ���

fξ(x) =
∂n

∂x1 . . . ∂xn
Fξ(x).

�$#�%�&��"� ��8� �*��( Δ + ����	*�����( ���������� ����,�$
���� 
���	���� 
 S + ������������ �����&�
4� 
��������
���� ����
"
�� + ���,����� ��*��4��� ���
�
� {ξ(δ) | δ ∈ Δ} ⊆ S�

D�� �������� δ �

��������
� 
� ���
���
� Δ � 
 ���
����	 3����	
5�*����� ��
������	 IN ��� ����������	 IR+ = [0;∞)6� � S 
������
�

��(�
���
 ���
�(��� �������	 5
�
�����	6 %/ ξ(δ)$ %����
����
���
�����

� 
���� *��� ��
������
� ��� ����������
� �� ���� 
��(��

��� 
�
�����	$ 
������
���	�& #��( � 
����
����
��	 �����

 
 ��
�
������
� 
�
������
�$ %����
����
��� ���� 
���� *��� ��
������
�
��� ����������
� �� ���� �
�������
�	 ���
����	 3����$

%����
����
��	 �����

 ���#
������4� �
�� ��� 
��	
��� �� 
���'��

� �� �������
������ 
����� �
�� 
�
�����	 �� ���
����	 3����$

/ �*9�
 
������ ������ ��������
���� �������������� 
����
�����

��� �����

�� � 
��(��� ������� ���*�'9�� ���
���� �'*��� 
����	�
���� �������� 
����(�9��� ������������ ��
�� 
����	��� ����
������
���������� �� �����

� ��� �'*�
 ��*��� 
�
����� ���
���$ &�-��
�
*��� ���������� 
���������� ���

� 
����
����
��� �����

��� ��� ���
����� ����� �������������� ���9�$ H��*���� ��(��
� �� ��� ����'��

� �����

� O��

� � A������$ O��

��
��� �����

� ��'� ���
�(��
��
������� 
������������ 
����� �
��
������� ������	� �
������'9��
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������� 
��(�
��� ������������ ��������$ A�����
��� �����

� ����
3� �������� ��� 
������������ ����
��� 
�
��
 
 ����������
 ��
���

��$ A�����
��	 �����

 � 
����
����
��	 �����

� *���9�� ��������
����
�� ������ �� ����9��� 
�
������� � �� �� �������9��$

�$#�%�&��"� ���9� �*��( ��& ��	������ ���,���� 
���	��� Δ.
�����&�
4 S 
 �
��� i ∈ IN ������&���& δ0, . . . , δi−1, δi ∈ Δ (δ0 < . . . <
δi−1 < δi), s0, . . . , si−1, si ∈ S� $��������� ���"
�� �$�� + �������
$
���	
4 ���#���. ��& 	�����)� ��������
�� ����*���� �������� $������
����������
 ����
�
������� '������������6

P(ξ(δi) = si | ξ(δ0) = s0, . . . , ξ(δi−1) = si−1) =
P(ξ(δi) = si | ξ(δi−1) = si−1).

%��	���	�& #��( �%'� � A& 
 ��
������
 ���
����
���
 
�
���
���	$ �
�	�����$��������& %' ���%'� � AJ 
� 

���
� 
�
�����	
5��������
�6 � 
�
���� ���
���� 
��(�
��� ������� ������� ��� 
����
��$ ����������$��������& %' ���%'� � AJ� 

��� 
�
�����	 � ���
����	 ����
����� �� �������� ��� *�
�������� ���������� ���
����	
�
�$

AJ ���������& �)���)����&�� �
�� ��������
�� 

�� 
�
�����	 �� ���
��
�� �� 
�
���� ���
���� ����� ��� ����
�����$ 1���
 �������������
��� �
� ��


�������
�� ����� AJ � ����������$

H��*����
� ��������� �������� AJ � %%&$ H����
��� 

��� 
�
���
���	 5��������6 )/AJ 
�(�� 
������
������� ����� �� 
��*��������
��� 
��*�������� ��
������� ��������� )/%%&$
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��1� ��$" �+#6(-+  %" 6#�!��) -#�)���)

O��
������
��� ��
���������� � ����
������� ��
������� ��
������
������ ��� �������� 
���������� 
��	
��� ��*������
��� �����������
��� AJ7

P(ξ = i+ j | ξ > j) = P(ξ = i) (i, j ∈ IN, i ≥ 1).

&�-��
� 
��	
��� ��*������
�� ���*���� ���*� ���
� ���*������
� ��(��
 
�
������ )/AJ 5�����(�� ���������6 *��� ���
������
��
��
����������	 %/$

C���
 �*����
� ��� ������� ��������
����� ���
���� )/AJ ��
���
����� �
��� LA/ ��� �� ���
����
���
 
�
�����	 S = {s1, . . . , sn} �
��������	 
�
��� ���
��� � ��������
�� ��������� �� ���� 3�� �� ��
�
������	 ���
����	 3���� ρij (1 ≤ i, j ≤ n) �� 
�
������ si � sj $
� ���!�)���&� �
�)����� ����&������4 ��������� ����� )/AJ �

��
������	 ��������������	 ���� 
 ���3���
�� 
������
���'9�
� 
��

������
 �� S� � ����
�� ��
������
� ��������
��
� ��������� �� ����
3�� ρij (1 ≤ i, j ≤ n)$ )/& ������
� �������
��
 ����
��������

)/AJ$
� ���!�)���&� ����
#� ����&������4 ��������� �%��� )/AJ �


������ P ���
��� n × n ��� [0; 1] 
 ��������
��
� ��������� �� ����
3�� ρij = P(ξ(1) = sj | ξ(0) = si) (1 ≤ i, j ≤ n) � ����
��� -��
�����$
A/& �
��������
� ��� ���������
���� ��3���� )/AJ$ C�� ��� � 
�����
��


������'�
� ������ ���������� )/AJ� ��������
�� ρij �� ����
��
�� 
�
���� ���
���� � ������	 ����
����� 

��� 
�
�����	$ &�-��
�

�(�� ����(��� ��� �����
 �������� ��� ����
��� ��3�$

A�(�� ��������� ��� 
������ Pk 5������������ k 
����� P (k ∈ IN)6
�
��� � ����
��� -��
����� ��������
�� ��������� �� k 3����
ρij(k) = P(ξ(k) = sj | ξ(0) = si) (1 ≤ i, j ≤ n)$ &���(�
 P0 = E� ���
E � ��������� 
������ ���
��� n×n� �$ �$ �
� �� ������������ -��
���
�� � �������� � �
������� � ����$
7������
� �������+-����)����� �
����������� ����3���� 
�(��

��������
��
� �������� �� k + l (k, l ∈ IN) 3���� 
 ��������
��
� 

��

�
�����	 �� k � l 3����$ )�� ���������� )/AJ ��������� ��������

����'9�
 �*����
7

Pk+l = PkPl.

/�������
�� ���*������ � 
�
������ si � ������� k 3���� � ��� 

���
�� 3��� k + 1 �
�� ρk

ii(1 − ρii)$ M
�� ���������������� 

��� 
�
������
��� �
��� ���������� �
�������� � ������(���� ���*������ � ��
 � ���
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�������� 
�(�� �*�����
�� ��� ���
� ���*������ � 
�
������� )/AJ
��
��������� ���
������
��$
"�!��
� ��%' ����'����
� � ����
����� LA/ ��*� � ����������

��	 
�
��� ���
���� ��*� ��� �������
��� �
������$
&�
�� ψi(k) = P(ξ(k) = si) (1 ≤ i ≤ n) � ��������
�� �������� )/AJ

� 
�
������ si �� k 3���� 5�� ���������� 
�
������6 �
ψ(k) = (ψ1(k), . . . ψn(k)) � �� LA/ � 
�
��� ���
��� k 5������&��&
5%�6� P P � AQ&$ &������9�� LA/ �������
� �� 
�
��
� ���������
��� ��������	

ψ(k + 1) = ψ(k)P.

%������������� �������9�' LA/ 
�(�� ����
���� �� �
���� ���
������	 LA/ ���

ψ(k) = ψ(0)Pk.

&������9�� LA/ ��(��� ����� ��(�� ������� ���������
����� ���
������� �

�����
�	 
�
��
�$ M
�� ��


�������� ����� ���
����� ���
3���� ��� ����������� ������� ����������������� 
�(�� ���������
��� ��������
�� 
�
�����	 ��
�� 
�������
� ��
������
� � ��*��� 
��

��
� 
�������
� 
��*�����	 5�������
��	6$ / -��
 
����� �������� ���

�
��
� ����3�� � 
��*������ 
�
������$ D���� 
�9�
����� ����� 
���
*������ LA/� )/AJ ��������
� 3�)��
���	�4$

&�
�� ψi = limk→∞ ψi(k) (1 ≤ i ≤ n) � ��������
�� ����(����� -��
������
��	 )/AJ � 
��*�����
 
�
������ si� � ψ = (ψ1, . . . , ψn) � ��
����
�(��& 5%�� � P � A/&$ B�
�� ψi (1 ≤ i ≤ n) � ��������
��
��������� 
�
��
� � 
�
������ si ����� ��
������� *���3�	 ���
����	
��������$ ,�� �� ����
�� �� ���������� 
�
������ 
�
��
�� �$ �$ 
�
���

� ?��*�����@� ������ ������
� ���(����$ %��*������ LA/ � ��3����

�
��
� ����	��� ��������	{

ψ(P − E) = 0,
ψeT = 1,

��� e � 
����� �� n ������$
F�


����
 *����
& �*���������
& ����
�(��)� �����&�
& �3�)�$

�
�����
� )/AJ$ )�� -���� �����
 ��� ���*����
�� ������	$
%�
������ si (1 ≤ i ≤ n) )/AJ ���*����������� �
�� ∃j (1 ≤ j ≤ n)

∃k ∈ IN ρij(k) > 0 � ∀l ∈ IN ρji(l) = 0� �$ �$ �� ��������
 3��� �� si


�(�� ����	�� � ��������� 
�
������ sj � �������
� �*����� �� ��������
�����
�(��$ %�
������ si �*���������� � ��������
 
�����$

%�9�
������� 
�
������ si � sj (1 ≤ i, j ≤ n) )/AJ ��������
��&�
�
�� ∃k, l ∈ IN ρij(k) > 0 � ρji(l) > 0� �$ �$ �� ��������� 3���� 
�(��
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����	�� ��� �� si � sj � ��� � �*�����$ /
� 
��(�
��� 
�9�
������� 
�
���
���	 ���*�����
� �� ������
���'9��
� ���

� 
��*9�'9��
� 
�
�����	
S1, . . . , Sm$

M
�� ���

 
��*9�'9��
� 
�
�����	 Sc (1 ≤ c ≤ m) 
�
���� �� ������

�
������ si� �� ��� � ��)��������$

)/AJ ����1��,
��&� �
�� �� 
��(�
��� 
�
�����	 � ����
������	
���

 
��*9�'9��
� 
�9�
������� 
�
�����	� � ��1��,
��& � �������
��
 
�����$

/�������
�� ����� ��� 
�
��
�� ��	�� �� 
�
������ sj (1 ≤ j ≤ n)�
������� �������& � ��)� ����1 k !�)�� �
��

Returni(k) = P(ξ(k) = si, ξ(k − 1) 
= si, . . . , ξ(1) 
= si | ξ(0) = si).

/�������
�� ����� ��� 
�
��
�� ��	�� �� 
�
������ sj (1 ≤ j ≤ n)�
	�)��$�
�*�( �������& � ��)� �
��

Returni =
∞∑

k=1

Returni(k).

%�
������ si (1 ≤ i ≤ n) �������(�
�	 )/AJ ��1�������� �
��
Returni = 1� � ����1������� �������&����� �
�� Returni < 1$

%�
������ si (1 ≤ i ≤ n) �������(�
�	 )/AJ �*������ �
��
limk→∞ ρii(k) = 0� � ���*����� �����,
���(���� � ��������
 
�����$

%�
������ si (1 ≤ i ≤ n) �������(�
�	 )/AJ ���
��
���	�� 
 �����
���
 di ∈ IN (di > 1)� �
�� di � ���*���3�	 �*9�	 �������� ��
�� ��

��(�
��� {k ∈ IN | Returni(k) > 0}� �$ �$ � si 
�(�� �������
� ������
�� ��
�� 3����� ������� di� � di � ���*���3�� �� ����� ��
��$ %�
������
si �����
��
���	�� � ��������
 
�����$

/ ��������� 
�(�� *��� ��
�
� ����� 
�
�����	 �������(�
�	
)/AJ� ��� ��� ��(��	 �� ���� ��������� � ����������� ��3� �����
�������� 
�(�� ���
��
������� ��� ��
��
�������$ ,����� 
����'9��
�����
� ������� � ��
� ��� ����� ����� �
��� 6$

��(#�)+ ���� �2# � ����1��,
��4 ��%' ����1������� �����&�
�
&��&���& �*������

C���
 �*����
� 
�
������ 
�(�� ���

����������� �� ���
 
�����
'9�
 ����
����
$

2$ 8�
�����
���	
� ���4����6 ������������� ���������� ��������
���������$

<$ 8�
/���
���	
� ���4����6 ���������
���� �����������
���$

��(#�)+ ��� :�(&"%+#�( !;<� �2# � ����1��,
��4 ��%' ��� ��$
���&�
& 
���� ��
� �
�� �� ���( ���
 ���� 
1 �
�. �� 
 ��� ��
 �
��
��1�������. �
�� �*����� �
�� ���
��
���	
� � ��
��	���� ���
����
d ∈ IN (d ≥ 2)�



������� ��	� �������������� ���� ����� 4-

H������(�
�� )/AJ ���
��
���	�&� �
�� �� 
�
������ � ��������
��
��� 
 �������
 d ∈ IN (d ≥ 2)� � �����
��
���	�& � ��������
 
�����$

��(#�)+ ��, :=#'(%"��( !;<� �2# ��%' ����1��,
��& 
 �����
$
��
���	�& 
 ��& ��	�����)� �� �����&�
& si ������� ����& ��1����� �
��)� 	������.

∞∑
k=1

kReturni(k) <∞,

��)�� 
 ���(	� ��)��. 	�)�� ∀i, j (1 ≤ i, j ≤ n) �*�����*�� ��1��
�
$
��& �� �����(��4 5%� ψ(0) 
 ��
��������& ���������� !$ 
ψ = (ψ1, . . . , ψn). )��

lim
k→∞

ρij(k) = lim
k→∞

ψj(k) = ψj > 0.

)/AJ 3�)��
���	�&� �
�� ��� ��� 
�9�
���'� 
��*������ LA/$
;���
���� ��� ��� 	������� )/AJ ���*������ �������
�� 
������

�� ���
��� �������� � �'*�� �� 
�
������ �
���� ���������
�$ &�-��
�
�������� )/AJ -�������
��� ����� � ������ ������ ����� ��� ��������
(�
�� � �����������
���$

H� ��
$ �� ���*��(��� )/& ��� )/AJ 
 
��(�
���
 
�
�����	 S =
{s1, s2}$ +
������ ��������
�� �������� �� 
�
������ s1 � s2 ����� ρ� �
�*����� � σ$

� �	 �

 ���
s1

ρ

σ

s2

�

� �	 �

 ���
s1

ρ

σ

s2

� � �	 �

 ���
s1

λ

μ

s2

�

F1 F2


��� �� +'9:� �9: � ('9:

A/& ��� )/AJ ������7

P =
[

1 − ρ ρ
σ 1 − σ

]
.

��2� 
(&*)+#6(- 6"� 7�$"

&���
�����
��� ���� 5&AJ6 � �*�*9���� )/AJ � ���������� �����

�(�� ��
� � H/AJ� ���������
�
� � 
����'9�
 �������$ D�(��
�

�
�����' &AJ si 
���
�������
� ����(�������� ���
� ���*������ �
��
 
 �������	 ��
���������� Fi(δ) � ������
��' fi(δ)$
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C���
 �*����
� ��� ������� ��������
����� ���
���� &AJ ��
������
�� �
��� LA/ ��� �� ���
����
���
 
�
�����	 S = {s1, . . . , sn} � �������
��	 
�
��� ���
���� ��������
�� ��������� �� ���� 3�� ρij (1 ≤ i, j ≤ n)
�� 
�
������ si � sj � ������ ��
���������	 ���
��� ���*������ � 
��

������� F (δ) = (F1(δ), . . . , Fn(δ))$
� ���!�)���&� �
�)����� ����&������4 ��������� ����� &AJ �

��
������	 ��������������	 ���� 
 ���3���
�� 
������
���'9�
� 
��

������
 �� S� ����� ������� �������LF/ ���
��� ���*������ � ���� �
����
�� ��
������
� ��������
��
� ��������� �� ���� 3�� ρij

(1 ≤ i, j ≤ n)$ )/& ������
� �������
��
 ����
��������
 &AJ$
;������������ &AJ 
����'9��$ / 
�
���� 

�� 
�
�����	 &AJ

����� 
�*� ��� )/AJ� �$ �$ �������� 
�(�� 
�
������
� �����
��' ����

���'�
� A/& P � ������
�
� �� ���3����$ &�
�� �������� � 
�
������
si ���(�� ���	�� ���
�� ��
����������� � 
������
���� 
 Fi(δ)� ���(��
��
 *���� ���
�(�� 
����'9�� 

��� 
�
�����	$
"�!��
� �%' ����'����
� � ����
����� LA/ ��*� � �����������	


�
��� ���
���� ��*� ��� �������
��� �
������$
)�� ����
����� 
��*�����	 LA/ ��� &AJ 
������ �*����
 �*���

��
 �������
� 
��*������ LA/ ψ = (ψ1, . . . , ψn) ��� ���������4 ��%'
����%'�� ������������
�	 A/& P$

0���
 ����
����
� 
������ ���
� ���*������ � 
�
������� si

(1 ≤ i ≤ n) ���

SJ(si) =

∞∫
0

δfi(δ)dδ.

%��*������ LA/ ϕ = (ϕ1, . . . ϕn) &AJ ��������
� �
��(����
 ��(�
���� ψi (1 ≤ i ≤ n) �� 
������ ���
� ���*������ SJ(si) � 
������
���'�
9�
 
�
������ si � ��
����'9�	 ���
��������	 ��
����������$ C���

�*����
� ��� 1 ≤ i ≤ n �������


ϕi =
ψiSJ(si)

n∑
j=1

ψjSJ(sj)

.

/���
����� �������9�	 LA/ ��� &AJ � ����������� *���� 
��(�
��� ������� ��
 ��� )/AJ � H/AJ$ %������
���'9�� 
����� ����
�
����� 
���� *��� ��	���� � �42#$

H� ��
$ �� ���*��(��� )/& ��� &AJ 
 
��(�
���
 
�
�����	
S = {s1, s2} � �������
 ��
���������	 ���
��� ���*������ � 
�
����
���� F (δ) = (F1(δ), F2(δ))$ +
������ ��������
�� �������� �� 
�
������
s1 � s2 ����� ρ� � �*����� � σ$
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A/& ��� /)/AJ� 
������
���'9�	 -��	 &AJ� ������7

P =
[

1 − ρ ρ
σ 1 − σ

]
.

��3� ��$" �+#6(-+  ��$#�#�-��) -#�)���)

>�
������������� ��
���������� � ����
������� ����������� ��
�
����������� ��� �������� 
���������� 
��	
��� ��*������
��� ���������
��� ��� AJ7

P(ξ ≥ x+ d | ξ ≥ d) = P(ξ ≥ x) (x, d ∈ IR+).

&�-��
� 
��	
��� ��*������
�� ���*���� ���*� ���
� ���*������ �
��(��
 
�
������ H/AJ 5�����(�� ���������6 *��� -�
������������
��
����������	 %/$

>�
������������� ��
���������� �
��� ��
������	 ����
��� λ� �����
���
�	 ��� ��
� ��� 
����
�� �������� � H/AJ � �� ����
�9�	 �� �����
3�
���'9��� ���������$ ,
�������� ���
� ���*������ � 
�
������ �

����	��� ����
����� 
 ��	 (� ������
��' ��
����������� ��� � �*9��
���
�$ C$ �$ �
���3��
� ���
� ���*������ � 
�
������ �� ����
�� �� ����

���� �(� ������������ � ��
� � ������ �� ����9��� 
�
������$ )�����
��
���������� ��������� �
�9�
����� ����
������� ���
��	 ��
�������
������	 ������ 
�����	 5����
����� �������	 ���������������
��6$

C���
 �*����
� ��� ������� ��������
����� ���
���� H/AJ ��
���
����� �
��� LA/ ��� �� ���
����
���
 
�
�����	 S = {s1, . . . , sn} �
��������	 5�*���� ������	6 
�
��� ���
��� � ����
���� -�
��������
������� ��
���������� 5��
�� ���������6 qij (1 ≤ i, j ≤ n) �� 
�
������
si � sj $
�
�)����� ������ ��������� ����� H/AJ � ��
������	 ������

���������	 ���� 
 ���3���
�� 
������
���'9�
� 
�
������
 �� S� �
����
�� ��
������
� ��
��
� ��������� qij (1 ≤ i, j ≤ n)$ )C& �������

� �������
��
 ����
��������
 H/AJ$
%���
#� ������ ��������� �%��� H/AJ ��� )�������� ���	����$

�� ����� � 
������ Q ���
��� n × n ��� IR+ 
 ��
��
� ��������� qij
(1 ≤ i, j ≤ n) � ����
��� -��
������ �� ��������(�9�� ������	 ������
����$ H� ������	 ��������� �������
� ������������� 
�

� �
�������
-��
����� �� 
������
���'9�
 
�����
$ AC& �
��������
� ��� ������
����
���� ��3���� H/AJ$
"�!��
� ��%' ����'����
� � ����
����� LA/ ��*� � ����������

��	 
�
��� ���
���� ��*� ��� �������
��� �
������$
&�
�� ϕi(δ) = P(ξ(δ) = si) (1 ≤ i ≤ n) � ��������
�� ����(�����

H/AJ � 
�
������ si � 
�
��� ���
��� δ � ϕ(δ) = (ϕ1(δ), . . . , ϕn(δ)) �



,, ������
�� �
���������� '��� -

�� LA/ � 
�
��� ���
��� δ 5������&��& 5%�6� � Q � AC&$ &����
����� A& ���
�����
� 
�
��
�	 ��������	 B��
����D��
������� ���
��������
��	 ���������� �� ������	 
�(�� �������� 
����'9�' 
�
���

� ���������������� ��������	 � 
�������
 ����7

dϕ(δ)
dδ

= ϕ(δ)Q.

/ -��	 
�
��
� ��������	 ���������������
� ��
�����' ��(��	
��������
�� ϕi(δ) (1 ≤ i ≤ n) 
�
������ si � 
�
��� δ 
������
�����
�����
�� 
�(�� ��������
��
� �������� � ���� �� ������ 
�
�����	 �
�� ���� � ������ 
�
������ � -��� 
�
��� ���
���$ &������9�� LA/ �
��3���� 
�
��
� ��������	

ϕ(δ) = ϕ(0)eQδ,

��� eQδ � 
�������� -�
�������� ���������
�� ��� eQδ =
∑∞

k=0

(Qδ)k

k!
$

D���� 
�9�
����� 
��*������ LA/� H/AJ ��������
� 3�)��
���	�4$
&�
�� ϕi = limδ→∞ ϕi(δ) (1 ≤ i ≤ n) � ��������
�� ����(����� -��

������
��	 H/AJ � 
��*�����
 
�
������ si � ϕ = (ϕ1, . . . , ϕn) � ��
����
�(��& �����������&� 5%�� � Q � AC&$ %��*������ LA/ � ���
3���� 
�
��
� ����	��� ��������	{

ϕQ = 0,
ϕeT = 1.

>�� 
�
��
� ��������	 ����(��� ����� ��� ������� � ��(��� 
�
���
���� i (1 ≤ i ≤ n) �� ������ 
�
�����	 � ������� �� ���� � ������ �����
���
� � 
����
����
��
 �������
��$
7����
& �*���������
& ����
�(��)� �����&�
& H/AJ 5-���������


��6 ���������� ���
����
 ��� )/AJ$
H� ��
$ �� ���*��(��� )C& ��� H/AJ 
 
��(�
���
 
�
�����	

S = {s1, s2}$ C�
� �������� �� 
�
������ s1 � s2 ����� λ� � �*�����
� μ$

AC& ��� -��	 H/AJ ������7

Q =
[ −λ λ

μ −μ
]
.
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A�����
��� �����

� �*����'� ��(��
 ����
�9�
���
� 
�
���9�

� ��
� ��� ������������� ����
���� ��� �� �

��������$ %����������
������� ��3���� ����'����
� � 
����'9�� 3����$

2$ H�	�� �
� 
�
������ si (1 ≤ i ≤ n) 
��(�
��� 
�
�����	 S$
<$ )�� )/AJ ����
���� ��������
�� ��������� �� ���� 3�� ρij ��

�� 
�
������ si � sj (1 ≤ i, j ≤ n)$
)�� &AJ ����
���� ��������
�� ��������� �� ���� 3�� ρij ��

�
������ /)/AJ si � sj (1 ≤ i, j ≤ n)$
)�� H/AJ ����
���� ��
�� ��������� qij �� �� 
�
������ si �
sj (1 ≤ i, j ≤ n)$

�$ )�� )/AJ 
�
������ �����������' 
�
��
� ����	��� ��������	

 ����' �

��������� �� �������9��� ���������$
)�� &AJ 
�
������ �����������' 
�
��
� ����	��� ��������	

 ����' �

��������� �������9��� ��������� /)/AJ$
)�� H/AJ 
�
������ 
�
��
� ��������	 
 
�������	 -�
�������	

 ����' �

��������� �� �������9��� ���������$
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ΩN (t) ·
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�����	 S = RS(N)$
<$ /�������
�� �������� ρij (1 ≤ i, j ≤ n = |S|) �� 
�
������ Mi � Mj
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��

ρij =

∑
{U⊆Ena(Mi)|Mi

U→Mj}

PF (U,Mi)

∑
{U⊆Ena(Mi)|•U⊆Mi}

PF (U,Mi)
.
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� PN = {p1, p2, p3, p4} � ���������
TN = {t1, t2, t3}$ L������ �
������ ��������
��	 ��������� ���������
��
� ���7 ΩN(t1) = ΩN (t2) = ρ, ΩN (t3) = σ$
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�� ������������'�
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����'9�
 �*����
7 p1 � ����� �������
*�'�� 5RSTUSUT26� p2 � ����� ������� *�'�� 5RSTUSUT<6� p3 � ������ ����
��� *�'�� 5NVVWUT26� p4 � ������ ������ *�'�� 5NVVWUT<6$
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����� 5RSTUSUT6� M2 = (0, 1, 1, 0) � ������ ������ *�'�� 5NVVWUT26�
M3 = (1, 0, 0, 1) � ������ ������ *�'�� 5NVVWUT<6� M4 = (0, 0, 1, 1) �
�*� *�'�� ������ 5NVVWUT6$
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P =

⎡
⎢⎢⎣

(1 − ρ)2 ρ(1 − ρ) ρ(1 − ρ) ρ2

0 1 − ρ 0 ρ
0 0 1 − ρ ρ
σ 0 0 1 − σ

⎤
⎥⎥⎦ .
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ρ(2 − ρ)ψ1 = σψ4,
ρ(1 − ρ)ψ1 = ρψ2,
ρ(1 − ρ)ψ1 = ρψ3,
ρ2ψ1 + ρψ2 + ρψ3 = σψ4,
ψ1 + ψ2 + ψ3 + ψ4 = 1.
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ψ =
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σ(3 − 2ρ) + ρ(2 − ρ)
(σ, σ(1 − ρ), σ(1 − ρ), ρ(2 − ρ)).
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ψ =
1
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(2, 1, 1, 3).
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• �(#�-�(-+�"�� %��*������� ������� 
 ���
���3�	 �����(��	$
%���������� � H/%%& �
��������
� ��������� 
�����������$
%�9�
���'� ���(� ��������� �������� ����� ��� ���3��� ���������


�
��
� ������ �� *���9��$ ;���
��� 
����'9�� 
������
� ��������
�
�� ��� ������(���� ��*��� ���
����� ���������$

• 
�#�?+$* 6�&�� 

��� 
��������� ��	
��� �
�� ��������� 
*���

���'�
�$ &�
�� -���� �
���������'�
� ����� �������� ��	
����
��� ���������� ����
��
�� � ����	 
���������$
H� 
��������
� ������	 ��
��� � ���3��
$

• �($* 6+@>+. $+).!;� &�� 

��� 
��������� ��	
��� �
�� ���
�������� ������� ����
���� *��� ����
��
�
�� 
*��
���'�
�� �
���� ������� �� ����
���� *��� ������
�� 
������'� 
��� ������
���$
&�
��� � ���3��
 
��������
� � 
�������	 
 ��(��
 ��������

���������4 ���*�	����4 ���&�
� ������� 
����(�� ���
� ����
*������ � ����
��
�
 
�
������ 
 ��
������� 
�
����� ����� ���
����� 
��� ����
��
�
$

• �(?#+ !�+. $+).!;� &�� 

��� 
��������� ��	
��� �
�� �����
����� 
������'� 
��� ��������$
&�
��� � ���3��
 
��������
� � 
�������	 
 ��(��
 ��������

���������4 ��1������4 ���&�
� ������� 
����(�� �����������
���
� ���*������ � ����
��
�
 
�
������ 
 ��
������� 
�
�����
����� ������� 
��*����$

;���� 
��	
��� ��*������
�� -�
�������������� ��
���������� ���
H/%%& �
� -�� ��������� ��
��� -�����������$ &�������
� � 
����
������	 
������
� ���*��	 ��� ����
�������� �������� �������$ )��
��
��'9�	 � �����
���	 ���� ��
��� 3����� ���
���'�
� ��� 
����



.5 ������
�� �
���������� '��� -

��������� ��*��� ��������� �����(���	$ H����
��� � 
����� ����
�
��'9�	 ��
��� 
 ��������
� 
�(�� 
������ ��	
���� 5�������
��6� ���
����� ������'�
� � �������'�
� �� ���
� ���������������� H/%%&$
0����3���� ��	
���	 ������ 

��� 
�
������$

)�� ���*
��� ������� *���
 �
���������� 
����������� 
 ��������
�
��
 � ����
��� 
��
�*� ���������������� H/%%&$ %��	
��� ��*�����
��
�� ��� H/%%& ������������ ��� ���
� ���*������ � 
���������
M -�
������������ ��
��������� 
 ����
����


∑
u∈Ena(M) ΩN (u)$ LA/

���
��� ���*������ � 
��������� �
�� LA/ 
���
������� ���
��� ���
���(�� 
��*�������� ��������� �� Ena(M)$
����&�����( ����������
& �������� � ���	
���	� M �������� t ∈

Ena(M) �
��

PF (t,M) =
ΩN (t)∑

u∈Ena(M)

ΩN (u)
.


������ ����& ��������
& � ���	
���	� M �
��

SJ(M) =
1∑

t∈Ena(M)

ΩN (t)
.

0�
���
� ��� 
���� 
����	��	 �����(�� 
��*�������� 
 �����������
���
����	 LF/ ������ ������' ��������
�� 
��*�������� ���� �����
����� �������
����$ C���
 �*����
� �������� 
��*�����'� ��
�������
������� ���� �� �����
� � 
�
������ H/%%& � 
�����
�
�)���& 5���
��������
 ��	
���	 
���������
� �� �����������
6$

0��� ��!(%� +�+&"?+

A��(�
��� ��
��(�
�� 
��������� H/%%& 
�������� 
 
�������

���'9�
 
��(�
���
 *�����	 %&� ����'9�	 
�������� H/%%&$ >��

���
���� ������ ��� �����(�� *����
� �� IR+� ��-��
� � �'*�	 ��
���
(�
�	 
��������� ��(��	 ������� �
��� ��������' ��������
�� 
��*��
�������$ %������������� 
���������� � �������������� 
��	
��� %&

������'�
� � ��
�������	 �� �� �
���� H/%%&$ &�-��
� ����� �����

������� 5��������������6 
��	
���� ��� ������������� ������� ���
*�����
��
��� 
�(�� ������� ����� ������ ����� ��
��(�
�
��$

D�����
������� 5���
���Y��6 
��	
��� �����'�
� 
 ��
�9�' H/AJ�

������
���'9�	 �)���
�����4 H/%%&$

H/AJ CTMC(N)� ����������*���& H/%%& N � 
�����
� 
����'�
9�
 �*����
$



������� ��	� �������������� ���� ����� .4

2$ A��(�
��� 
�
�����	 S = RS(N)$
<$ C�
� �������� rij (1 ≤ i, j ≤ n = |S|) �� 
�
������ Mi � Mj �
��

rij =

⎧⎪⎨
⎪⎩

∑
{t∈Ena(Mi)|Mi

t→Mj}

ΩN (t), i 
= j;

0, i = j.

)�� H/AJ CTMC(N) 
�����
� AC& Q 
 -��
����
�

qij =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∑
{t∈Ena(Mi)|Mi

t→Mj}

ΩN (t), i 
= j;

−
∑

t∈Ena(Mi)

ΩN (t), i = j.

AC& Q 
�(�� ���(� ���������� ���

qij =

⎧⎨
⎩

rij , i 
= j;
−

∑
{k|1≤k≤n, k 	=i}

rik, i = j.

&������9�� LA/ �������
� �� 
�
��
� ��������	 
 
�������	 -�
�
�������	

ϕ(δ) = ϕ(0)eQδ,

��� ϕ(0) = (ϕ1(0), . . . , ϕn(0)) � ��������
�� ���������� ��
�����������
��
������� ������	 ϕi(0) (1 ≤ i ≤ n) ��������'�
� ���

ϕi(0) =
{

1, Mi = MN ;
0, �����$

/ -��
 
����� ϕ(δ) = (ϕ1(δ), . . . , ϕn(δ)) � �������9�� LA/ ��� ���

��(�
�
� 
���������
� � ϕi(δ) (1 ≤ i ≤ n) � ��������
�� 
���������
Mi � �������9�
 
�
������$

%��*������ LA/ ��� H/AJ CTMC(N) ������
� ��3����
 
�
��
�
��������	 {

ϕQ = 0,
ϕeT = 1.

/ -��
 
����� ϕ = (ϕ1, . . . , ϕn) � 
��*������ LA/ ��� ��
��(�
�
�

���������
� � ϕi (1 ≤ i ≤ n) � ��������
�� 
��������� Mi � 
��*����
��
 
�
������$

1���� �����*��	 ������ H/%%& 
�
���� � ����
����� �����
�� ����
������������
��� 
����� �� ������� 
�(�� �������� �� �
���� ��
����
������� � 
��*�����
 
�
������ ��� 
��(�
���
 ��
��(�
�� 
�������
���$



., ������
�� �
���������� '��� -

• ����&�����( �����
&� ���������
��� ����� 
���������$ &�
��

�*���� A ������
� �
�����
� �
�����
 ��� �
�� 
��������� ��

��(�
��� MarkA ⊆ RS(N)$ C���� ��������
�� A � 
��*�����


�
������ ����������
� ���

P(A) =
∑

{i|Mi∈MarkA}
ϕi.

• ����&�����( ���
�
& k /
!�	 � ����� p ∈ PN ����������
� ���

Tokens(p, k) =
∑

{i|Mi(p)=k}
ϕi.

• 
������ �
��� /
!�	 � ����� p ∈ PN ����������
� ���

Tokens(p) =
∑

{i|p∈Mi}
Mi(p)ϕi =

∑
k≥1

Tokens(p, k)k.

• ������� ����������
& �������� t ∈ TN �� ������� ���
��� �����
������
� ���

Freq(t) =
∑

{i|t∈Ena(Mi)}
ΩN (t)ϕi.

• &�
�� TravNum � 
������ ��
�� ��3��� �������9�� ��������'
���
��� H/%%&� � Rate � 
�����	 ��
� ����� � ���
��� 5������
�� ���
���6$ C���� �����&& 1����,	� /
!	
� �������9�	 ���
���
� 
��*�����
 
�
������� �
��

Delay =
TravNum

Rate
.

0�,� 
#")�#�

F�


����
 
���������' ���
��� �'
��� �� �4�# ��
���
���
 ���
*������� �����	 ��
��$

H/%%& N � ���*��(����� �� ��
$ !� 
��������� ��������� ��������

 ���
� ��
�����
�� �$ �$ 
�
��
� 
 ���
� ��
������������ ���'����
��
� ��
��	����
 ��
��
�$ O������� 
�(�� ���'���� � ����'����$
D���� ��� ���'����� ���� �� ��
����� 
�(�� ���������� 5�� �� �*� �
��

��� ��� ��� ��� ������ �� 
���� ����	 �� ��
����� -��������
��� ����

�������� ���������
�6$ &��������3�� ��
����� 
���� ��
�����
� ���

�� ����'����� ��������$

H/%%& N �
��� 
��(�
��� 
�
� PN = {p1, p2, p3, p4} � ���������
TN = {t1, t2, t3, t4, t5, t6}$ L������ ��
��� ��������� ����������
� ���7
ΩN (t1) = α, ΩN (t2) = β, ΩN (t3) = ΩN (t5) = λ, ΩN (t4) = ΩN (t6) = μ$
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 �� 	
 ��
	
 ��
	
 ��� �


��� �� ('��� �����
�� � �� ('9:

A�
�� ������������'�
� 
����'9�
 �*����
7 p1 � �������� ����'�
���� 5RZ6� p2 � �������� ���'���� 5R[6� p3 � ���������� ������ ��
�
����� 5\P]^UT26� p4 � ���������� ������ ��
����� 5\P]^UT<6$

RS(N) 
�
���� �� ������� 
���������� ����
�����'9�� ���
�(���

�
������ 
�
��
�7 M1 = (1, 0, 0, 0), M2 = (0, 1, 0, 0), M3 = (0, 0, 1, 0),
M4 = (0, 0, 0, 1)$ C�� ��� �� �
�� ��
��(�
�� 
���������� ��3� ����

�
�� 
����(�� ��3��� 
�
������ 
�
��
� 
�(�� �

���������� 
 
��

��
�$

&������� � �� ��
�� �
�'� 
����'9�' ������������'$
2$ D���� �������� ����'����� �� �� �
������� ���
���� -�
��������

����� ��
������������ 
 ����
����
 α� �� 
�(�� ���'���� 5�����
��� t16$

<$ D���� �������� ���'����� �� ��
�� ����� ��� ���	��� ���
�� -�
���
���������� ��
����������� 
 ����
����
 β� �� 
�(�� ����'����
5������� t26� ��*� �� ������ ���
��� 
 -�
������������
 �����

����
 λ ���������� ������ 5������� t36 ��� ������ 5������� t56
��
�����$

�$ D���� �������� ����������� �� �� �
������� ���
��� 
 -�
��������
�����
 ����
����
 μ ��
�����
� ������ 5������� t46 ��� ������
5������� t66 ���
������� ��
�����$

AC& ��� H/AJ CTMC(N)� ���(� ���*��(����	 �� ��
$ !� ������7

Q =

⎡
⎢⎢⎣

−α α 0 0
β −(β + 2λ) λ λ
μ 0 −μ 0
μ 0 0 −μ

⎤
⎥⎥⎦ .

%��*������ LA/ ��� H/AJ CTMC(N) ������
� ��3����
 
�����



./ ������
�� �
���������� '��� -

'9�	 
�
��
� ����	��� ��������	7⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

αϕ1 = βϕ2 + μϕ3 + μϕ4,
(β + 2λ)ϕ2 = αϕ1,
μϕ3 = λϕ2,
μϕ4 = λϕ2,
ϕ1 + ϕ2 + ϕ3 + ϕ4 = 1.

/ ���������� �������


ϕ =
1

μ(β + 2λ) + α(μ+ 2λ)
(μ(β + 2λ), αμ, αλ, αλ).

0�
���
� ��� ������ ������ ��������� 
�(�� ��


�������� ��� ���
���
��� ������� � �������� �������� 
�������� 
 ��(��
 
�
������

CTMC(N)$ /�������
�� ������� 
��������� 
 ��(��	 ����	 
������
����
'9�	 )C&� � ������������ ��������
�� �������� � ������ 
�
������ �
�
������ 
��*�����
�� � ��
�� ��������� ��
���'9��� ����$

H� �
���� ϕ 
�(�� ����
���� 
����'9�� �����
� ����������������

��$

• ���& ������
 ������
& )
��&��� �
�� ϕ2$
• ���& ������
 ��
���������
 )
��&��� �
�� ϕ3 + ϕ4 = 2ϕ3 = 2ϕ4$
• %������ ��
���� 
��*�������� ������ �� ��������� t3 ��� t5 �
��
Freq(t3, t5) = Freq(t3) + Freq(t5)� ��� Freq(t3) = λϕ2 = Freq(t5)$
%������ ��
���� 
��*�������� ������ �� ��������� t4 ��� t6 �
��
Freq(t4, t6) = Freq(t4) + Freq(t6)� ���

Freq(t4) = μϕ3 = μϕ4 = Freq(t6).

&�-��
� ������� ����& ��,�* ��*�& ������������(���
 ������$
�
 
1 ����& ��������� �
��

1
Freq(t3, t5)

=
1

2λϕ2
=

1
2μϕ3

=
1

2μϕ4
=

1
Freq(t4, t6)

.

• %������ ��
���� 
��*�������� �������� t1 �
�� Freq(t1) = αϕ1$
%������ ��
���� 
��*�������� ������ �� ��������� t2 ��� t3 ���
t5 �
�� Freq(t2, t3, t5) = Freq(t2) + Freq(t3) + Freq(t5)� ���

Freq(t2) = βϕ2, F req(t3) = λϕ2 = Freq(t5).

&�-��
� ������� ����& ��,�* ��*�& ������������(���
 �	����$
�
&�
 ���	�����
&�
� )
��&��� �
��

1
Freq(t1)

=
1
αϕ1

=
1

(β + 2λ)ϕ2
=

1
Freq(t2, t3, t5)

.



������� ��	� �������������� ���� ����� .0

/ �*9�
 
������ ��� �������� 
 n ��
�����
� 
��*������ LA/ *��
��� 
����'9�	7

ϕ =
1

μ(β + nλ) + α(μ+ nλ)
(μ(β + nλ), αμ, αλ, . . . , αλ︸ ︷︷ ︸

n

).

0�0� ��-(%�

,����������� ��3� ����
������� H/%%& �
��
������ �
�����������
����� �
� �������
��� ��������
�� ��������
�� ������$ / -��
 
�����
�������
�� 
�(�� ���
�� ���������������� 
 �
���
� ���������$ H��
���
��� � ��


�������	 H/%%& ������� t1 
������
����� ���'����'
��������� � t2 � �� ����'����'� �$ �$ 
����3���� �����
 ��	
����
$
,����� ��������
 t3 � t5 
�(�� ���
����� ���� � �� (� ��	
���� ���
��������� ��
��� � ��������
 t4 � t6 � �� ��
���$ C���� �����
 ���
������
 *���� 
���
������� ���������� ��	
����$ )�� ��3��� ���
���

�(�� ���
�� ������' ��
���� LN � ���
�����'9�' ��������
 
����'�
9�� ��	
����7 LN(t1) = TurnOn, LN(t2) = TurnOff, LN (t3) = LN (t5) =
LampFailure, LN(t4) = LN (t6) = LampChange$ C��(� ������� 
���
���� ��
�� �� 
 ��������
�� � 
 ��	
����
�$ C���� � ��3�
 ���
���
��
� TurnOn *���� ����� α� ��
� TurnOff � β� LampFailure � λ� P
LampChange � μ$

&�-��
�� �
�� ���
�� ��
���� � ����������� H/%%&� ��� � �2�#� �����

�������� ����
���
��� 
�
��
 
����� *���� ��������
$ / 
����� �
�
����������� ����
��'9�	 ��
���� 
�
������ ����� ��
������� H/%%&

������
������� *� �*9�
 ����
��������
 � ������� ��	
���	$ H����
���� ������
� ���
�(��
�� ����������� -�����������
��	 �� �
���� ���
��
������� �������������� �
�*����
��	 ��
������� %&� ���������
��� ��������	 ���
����� 
��	
��� ���
�9�� H/%%&� ���������
�

�� �
���� -��� %&$ &�-��
� ��
������� H/%%&� �� ��3�
� 
����'�
*���� ���*��$

/ ��������� ������ H/%%& �������� 
��(��� � -�� ������������
�*��
�� �� ���
������$ %��(��
�� ���������� �����
��� ����� ���*���
��
�
�� ��������� �
� ��
��(�
�� 
���������� ��
�� ������� 
�(��
*��� ����� *���3�
 ��(� ��� 
���� �� ���
���
 H/%%&$ &�� 
������
������� �������� 
�
��
� �
�'9�� ��������
��� ��������� ������'�
�
*���3�� H/%%& 
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���������$ D��
� ����� � ����	 
��
���� ���
��
���'� ?*�
����@ � ?
��������@ ��	
����� �������� 
�(��
������
� ���� �� ���
���'�
�$ &����
 
�������� ��	
���� 
���� *���
�
�*���� ��(�� ��� ������ �*9�	 ���������������
��$ >�� �������� �

�
��
�
 ��������	� ������ �����3�
�
 ��� ��
�9� 
���������� ��
�
������ 
������� � 
�(�� 
������ 
����� ������
�� �����������	$ D��
�



.1 ������
�� �
���������� '��� -

����� ��� �����*���� 
����� 
���� ������*���
� ��������� �� �
�'9��
�����(��� ������� 
������
���'� ������
��
 �
�����
 ��������� 
�
���

�$

&� 
�������' 
 )/%%&� H/%%& *���� ���*�� �������������� ��
��
������
�� ���
��� � )/%%& ���3� 
������
����� ��������� �����
������������ %& � 
��������
�� �
� ����
��������� �����

��$ &��
*�
�������
 �
���3���� ����� ���
������ 3��� )/%%& 
���� ���*���
(��� H/%%&$ D��
� ����� -�
������������� �����(�� �� �
���� �����

������
���'� ��������' �������� 
�
��
$ / ���������� *��� ���������
��� � 
����� �� �
���� ��
�������� ���
��� ����� ���
�� �����������
��
����������� �����(�� ���������$

�� ���������� ���

,*�*9����� %%& 5,%%&6 �4 � 48# � ��
3������ H/%%&� ��������
��� ��3��� ��� ���*��
� ���
�9�� ��
�����
$ / ,%%& �
�� �������
�� ��� 
 -�
������������ ��
����������	 53	������#
��(��� �������
��6� ��� � 
 ������	 5�)�������� ��������6 �����(��
�$ A���������
�������� �
�'� ��
�� ��������'9�� ��������
�� 
��*�������� � 
�����
��������� 
 �����
 ��������
 ������� ����� � ���(� ��������� �������
����$ D��
� ����� �
� 
��������� �������� ����������� �� 
�������' 

-�
������������
�� ������� �� ����������' �
�'� ������	 ���������$
A�
�� 
 ��������
� 5�� ���*����6 
���� 
�������� ����*������� �����
�
�������
�� ��� 
����������� ���������� �
����	 
��*�������� ���
�������$

1��� �$" +�"� )(%�&"

�$#�%�&��"� 1��� %���)
���� 

� �%

�� + �����	�

N = (PN , TN ,WN , HN ,ΩN ,ℵN ,MN),

)�� • (PN , TN ,WN , HN ,ℵN ,MN) + �����������& ��
� ��	�&. ��� TN

�����
� 
1 3	������#
��(��� 
 �)�������� ���������. � ℵN 
��$
�� 1�����
� 0 ��
1!
4 ��
��
���� �� ���� 3	������#
��(��� 

1�����
� 1 �� ��	������ ���������
&� ≥ 1� �� �)�������� ����$
����� K

• ΩN : TN → IR+ + /*�	#
& �
���� 3	������#
��(��� 
 �
��� �)��$
������ ����������

/ �������
��
 ����
�������� ,%%& 
��������� �������� ���*���
(�'�
� ����9����
� ��������
�� ��-��
� ���������� 
�(�� �� ����
������ 5�
�� ���������� 
��������� ��������� ����� 16$ /�
� ������
��'�
� ����� 
������
���'9�� 
��������� ���������$



������� ��	� �������������� ���� ����� .2

&�
�� M � 
��������� ,%%& N $ A��������� M ��4���
���(��&�
�
�� Ena(M) 
����(�� ������ -�
������������� ��������$ A���������
M 
���1����&� �
�� Ena(M) 
����(�� ���� *� ���� 
��������	 �����
���$

&�
��RST (N) �
��(�
��� ��4���
���(��� ���	
����	� �RSV (N) �

��(�
��� 
���1���
� ���	
����	 H/%%& N $ ,��������

RS(N) = RST (N) ∪RSV (N), RST (N) ∩RSV (N) = ∅.

L��������������� ,%%& ����(� �� ���
����� ��� H/%%&� �� 

�����
 
��������� ���������$ /�*�� 
����'9��� �������� ��� 
��*��
������� ����
�� �� ����
������ 
�������� 
 ��
 � �� ����'9��
� �����
���
� ���
���$
����&�����( ����������
& �������� � ���	
���	� M 5-�
��������

������� ��� 
����������6 �������� t ∈ TN ,%%& N �
��

PF (t,M) =
ΩN (t)∑

u∈Ena(M)

ΩN (u)
.

/ ��	
���������	 
��������� 5t � -�
������������	6 ΩN (t) � ��
��
� � �
����'9�	 5t � 
��������	6 � ��
 �������� t$

������ ����& ��������
& � ���	
���	� M �
��

SJ(M) =

⎧⎪⎪⎨
⎪⎪⎩

1∑
t∈Ena(M)

ΩN (t)
, M ∈ RST (N);

0, M ∈ RSV (N).

&������� 
��*�����'� ���� �� �����
� ��(� �
�� � �
����'9�	 
���
������� ����
��
� ��
������ �� ���������'9�� ���� 
 �����
 
����
������ ���������$ 0�
���
� ��� ����� ��������� -����������� �����
�����������' 
 �����3����
 �������
������ 
��*�������� ��
�������

��������� ���������$ ;���� 
�
������ ���������������� ,%%&� 
�$
����
�
�)���&� ��� � � H/%%&$

1��� ��!(%� +�+&"?+

/������� ����*������� ��� � ����������� � 
���������� %& 
�����
9��� �� 
��(�
��� ��
��(�
�
��$ A��(�
��� ��
��(�
�� 
���������
,%%& 
�������� 
 
������
���'9�
 
��(�
���
 %& 
 ����*������
�
����
� � ����������
�� 
����
����
��
 ��
3������
 ������� ������
�
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,%%&$ &�-��
� ����
������� 
��	
��� ,%%& 
�(�� ������� ����� ����
��� ����� ��
��(�
�
�� 
������
���'9�	 %& 
 ����*������
� ����
�
� ����������
�$

D�����
������	 ������ ����'����
� � �

��������� 
����
����
���
�� �����

�� 
��������� 
 �)���
�����4 ��1������4 ,%%&$ >��� �����


������
� �������	 ���������	 �������(�
�	 &AJ �"#$ &AJ 
�(�� ����
���������� 
 ��
�9�' /)/AJ� ���
���'9�	 

��� 
�
�����	 �����
�

�$ H� �
���� ,%%&� ��
���
���
 ������������� ��������� ���
����

�(�� ���������� /)/AJ� ���
���'9�' 

��� 
�
�����	 &AJ$

/
�������� )/AJ 5/)/AJ6 EDTMC(N)� ����������*���& ,%�
%& N � ����������
� 
����'9�
 �*����
$

2$ A��(�
��� 
�
�����	 S = RS(N)$
<$ /�������
�� �������� ρij (1 ≤ i, j ≤ n = |S|) �� 
�
������ Mi � Mj

�
��

ρij =

∑
{t∈Ena(Mi)|Mi

t→Mj}

ΩN (t)

∑
t∈Ena(Mi)

ΩN (t)
.

)�� /)/AJ EDTMC(N) 
�����
� 5����3������6 A/& P 
 -��
���
��
� ρij $

&������9�� 5k�3������6 LA/ ��� /)/AJ EDTMC(N) �������
�
�� 
�
��
� ��������	

ψ(k) = ψ(0)Pk,

��� k ∈ IN � ψ(0) = (ψ1(0), . . . , ψn(0)) � ��������
�� ���������� ��
����
�������� ��
������� ������	 ψi(0) (1 ≤ i ≤ n) ��������'�
� ���

ψi(0) =
{

1, Mi = MN ;
0, �����$

/ -��
 
����� ψ(k) = (ψ1(k), . . . , ψn(k)) � �������9�� LA/ ���
��
��(�
�
� �� k 3���� 5

�� 
�
�����	6 
���������
�� � ψi(k)
(1 ≤ i ≤ n) � ��������
�� 
��������� Mi � �������9�
 
�
������$

%��*������ LA/ ��� /)/AJ EDTMC(N) ������
� ��3����
 
��

��
� ��������	 �������(��	 �����{

ψ(P − E) = 0,
ψeT = 1.

/ -��
 
����� ψ = (ψ1, . . . , ψn) � 
��*������ LA/ ��� ��
��(��

�
� 
���������
� � ψi (1 ≤ i ≤ n) � ��������
�� 
��������� Mi �



������� ��	� �������������� ���� ����� .-


��*�����
 
�
������$ 0�
���
� ��� ��������
1
ψi

(1 ≤ i ≤ n) 
�(�� ���

�������������� ��� 
������ ���
� �������� � 
��������� Mi �� ��
��

��*�������	 ���������$

%��*������ LA/ ϕ = (ϕ1, . . . , ϕn) ��� &AJ� 
������
���'9�	 ,%�
%& N � ��������
� �
��(����
 ��(���� ψi (1 ≤ i ≤ n) �� 
������ ���
�
���*������ SJ(Mi) � 
������
���'9�	 
��������� Mi � ��
����'9�	
���
��������	 ��
����������$ &�� -��
� �
�� M � �
����'9�� 
�����
������ �� SJ(M) = 0$ / ��	
���������� 
���������� ����
��
� ������
-�
������������� ��������� ��-��
� ���
� ���*������ ����������
�
��� (�� ��� � ��� H/%%&$ C���
 �*����
� ��� 1 ≤ i ≤ n �������


ϕi =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

ψiSJ(Mi)
n∑

j=1

ψjSJ(Mj)

, Mi ∈ RST (N);

0, Mi ∈ RSV (N).

,��
����	 
���� ������
�������� ������� ����
��
 ������ ��� ���
*���3�
 ��
�� �
����'9�� 
�
�����	 �� 
�������' 
 ��	
���������
�$
,� ���*��� ����
����� 
������� ��
�� ��
�9���	 ��(���� �
����'9���

�
������� ��� �� ���� ����	 �����
���� � ��3����$ D��
� ����� �
�����
'9�� 
�
������ ���������'� ���
�� A/&� ��� �������� � �
��(����'
����
����	$

/ �"� 4�� 48# ���
�� *���� -���������	 
����� � 
������
���� 
 �����
��
 �
����'9�� 
��������� �����'�
� �� /)/AJ$ / ���������� �����
����
� 
����9����� /)/AJ ������ ��� ��	
���������
� 
����������

�� ��� ��
������� ������	 ����
��'�
� ������ ��������
�� ���������

�(�� ��
�$ &�-��
� ������
������	 ������ ������������ ,%%& 
��
(�� 
�
����� � ��3���� 
�
��
� ����	��� ��������	� ��
�� �������
����� ������
��� ��
��(�
�� ��	
���������� 
���������$ C���
 �*�
����
� H/AJ� 
������
���'9�' ,%%&� 
�(�� ��
������ ����� 
�����
9����' /)/AJ� �
��(�� 
����� ��
�����	 �� 
������ ���
� ���*����
��� � 
�������� ��	
���������� 
���������� � �
���������� -��
����
������	 ��������� �����
� ������������	 
�

� �
������� -��
�����

������
���'9�	 
�����$

1�,� 
#")�#�

,%%& N � ���*��(����� �� ��
$ 8� 
��������� ��������� ����3��

��������� ��
������ ��
�9�'9��� ����� ������$ %������ �� �

�������
�� ������ � ����
 ���� � 
����'9�	 �� *��(�	3�
 ������ ��� ����*�
�$
G���*�
� ��=��(�'� ��(�� ��
 ������� �� �� ����*�
�� ��*�����
� ��
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��� �� ;��� ���� �����

��� � �� '+'9:

���������� ������ *�
����$ %������
�� ��� ���
� ���*������ � �������
��
�� ����������	 ����*�
�� ��� �������� � ���(� �� 
����
�� �� 1�$
�
�&� �� ����������� ������$ A��3��� �����*���� ���� ��� ��

������

�(�� ��
������������ ��
�9��
�
� ������
� ��
��	���$

,%%& N �
��� 
��(�
��� 
�
� PN = {p1, p2, p3, p4} � ���������
TN = {t1, t2, t3, t4, t5}� �� ������� t1, t4, t5 � -�
�������������� � t2, t3 �

���������$ L������ ��
��� d ��
�� ��������� ����������
� ���7
ΩN (t1) = λ, ΩN (t2) = α, ΩN (t3) = β, ΩN (t4) = μ, ΩN (t5) = ν$

A�
�� ������������'�
� 
����'9�
 �*����
7 p1 � *��� � ��������

������ 5_[ V̀a[6� p2 � ��=��(��� ����
���� � 
����'9�	 ����� 5 S̀be6�
p3 � *��� � ����*�
� 5_[Qcb6� p4 � *��� � ������ 5_[ S̀P][6$

RS(N) 
�
���� �� ������� 
���������� ����
�����'9�� ���
�(���

�
������ 
�
��
�7 M1 = (1, 0, 0, 0), M2 = (0, 1, 0, 0), M3 = (0, 0, 1, 0),
M4 = (0, 0, 0, 1)$ C�� ��� �� �
�� ��
��(�
�� 
���������� ��3� ����

�
�� 
����(�� ��3��� 
�
������ 
�
��
� 
�(�� �

���������� 
 
��

��
�$

A��������� M2 � �
����'9��� �$ �$ ���
� ���*������ � ��	 � ���
������ ��� 
������
����� ����� � ��=��(�'9�	 ����
���� 
���� ��� ���
���������$ ,
������� 
��������� � ��	
����������$ C���
 �*����
�
RST (N) = {M1,M3,M4} � RSV (N) = {M2}$

&������� � �� ��
�� d ��
� �
�'� 
����'9�' ������������'$
2$ D���� ����3�
������� �����(��� � ��������	 ������ �� �� �
���
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����� ���
���� -�
������������ ��
������������ 
 ����
����
 λ�
�� �

�������� ����� � ��(�����
� ����������� ����
����� � 
���
��'9�� 
�
�� 5������� t16$

<$ ,�=��(�'9�	 ����
���� 
 ��������
��' α � ����*�
 5������� t26�
��*� 
 ��������
��' β � ����� 5������� t36$ A�(�� ���(� 
�������
��� �� α ����������	 ����*�
�� ��������
� β ����������	 �����
���� �$ �$ ��
 �������� ���������������� ��� ������
��� ���������
��	 
������
���'9��� ���� ����
�����$
&�����������
�� ��� α ≤ β� �$ �$ ����*�
� ��=��(�'� ��(�$

�$ D���� ����3�
������� 
����
� � ����*�
� �� �� ���
�� -�
��������
����� ��
����������� 
 ����
����
 μ� �� �����(��� � ��������	
����� 5������� t46$

4$ D���� ����3�
������� 
����
� � ������ �� �� ���
�� -�
��������
����� ��
����������� 
 ����
����
 ν� �� �����(��� � ��������	
����� 5������� t56$
&�����������
�� ��� μ ≥ ν� �$ �$ ����*�
� ���� *�
����$

A/& ��� /)/AJ EDTMC(N)� ���(� ���*��(����	 �� ��
$ 8� ���
����7

P =

⎡
⎢⎢⎢⎣

0 1 0 0

0 0
α

α+ β

β

α+ β
1 0 0 0
1 0 0 0

⎤
⎥⎥⎥⎦ .

N��*������ LA/ ��� /)/AJ EDTMC(N) ������
� ��3����
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⎪⎪⎪⎪⎪⎪⎪⎩

ψ1 = ψ3 + ψ4,
ψ1 = ψ2,
α

α+ β
ψ2 = ψ3,

β

α+ β
ψ2 = ψ4,

ψ1 + ψ2 + ψ3 + ψ4 = 1.

/ ���������� �������


ψ =
1
3

(
1, 1,

α

α+ β
,

β

α+ β

)
.

/����� 
������� ���
��� ���*������ � 
���������� �����7

SJ =
(

1
λ
, 0,

1
μ
,
1
ν

)
.
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/���3����� �� SJ 
��*������ LA/ ψ �
��7

1
3

(
1
λ
, 0,

α

μ(α+ β)
,

β

ν(α+ β)

)
.

,
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��������� ����3����' 
��*�����' LA/� �������� ��
�� 
�

� 
�*
������� ��
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ψSJT =
1
3

(
1
λ

+
αν + βμ

μν(α+ β)

)
.

C���
 �*����
� 
��*������ LA/ ��� &AJ� 
������
���'9�	 ,%%&
N � �������� ���7

ϕ =
1

1
λ

+
αν + βμ

μν(α+ β)

(
1
λ
, 0,

α

μ(α+ β)
,

β

ν(α+ β)

)
.

M
�� ����*�
� � ������ ��������'�
� ��������� ��
�� 5α = β6 � ����

 �����	 
����
��' 5μ = ν6� ��

ϕ =
1

2(λ+ μ)
(2μ, 0, λ, λ).
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� ��	�&. ��� TN
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t∈Ena(Mi)

ΩN (t)
.
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�� �������� �� 
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ρij =
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0 0
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SJ(Mi) =
∑

{j|Mj∈MD(N)}
ui

[
D−1(eDθd − E) 0

0 0

]
uT

j .

%��*������ LA/ ��� )%%& ��������
� �� 
��*�����	 LA/ ���
/)/AJ 
����'9�
 �*����
$ %������ ����������
� ����3������ 
���
*������ ��������
��	 
��������� 
�����
 ���
���
 ���*������ � ���$
0���
 �
�9�
������
� ����*��������� ��������
��	 
���������� ����
�
��'9�� ������������ �����
����������� ��������� 
 ��
�9�' ���$
�
#� �������1����
& Cd� ������� 
������
����� ������� 
�(�� 
�����

���
���
 ���*������ � 
��������� )%%& � � 
�
������ /)/AJ$

>��
���� (i, j) 
������ ����*��������� Cd ������ ��� Mi,Mj ∈
MD(N)� ��������'�
� ���

Cd(i, j) =
1

SJ(Mi)
ui

θd∫
0

eQ
′xdxuT

j =
1

SJ(Mi)
ui

[
D−1(eDθd − E) 0

0 0

]
uT

j .

2�,� 
#")�#�

F�


����
 
���������' ���
��� ������� ���� gdhd2d<d< �� �4!#
��
���
���
 ��*������� �������� ��
�������$ )%%& N � ���*��(�����
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�� ��
���� "� 
��������� ��������� ������� �� ���� ��
�������	 ����
gdhd2d�d�$ C�� ������� ����������
� 
����'9�
 �*����
7 ��� �����
�

� ���*���� d ��
���������� ���
��� �*
��(������ d ��
�� 
�������
�� 
������ �*
��(������ d ��
�� ��
�������	 d ��
�� �����
��$ %�
�
��� igj 
������
����� 
�����
��
� �����

�� � ihj � �����
�����������

� ��
���������'$ C��� ������� gdhd2d�d� �
��� 
�����
��	 �����


���*���� � �����
����������� ��
���������� ���
��� �*
��(������ ��
����
 
������ ���� ��
�������	 
 ���
� �����
�
� 5�� ����
� �� ��(���
�� ��
�������6$ &�
������� ��
�'�� ����
 �����3���'� �*
��(������
� �*
��(���'�
� �� ����
� �� 
����
��	 
������� �
�� ��� 
��*����$

)%%& N �
��� 
��(�
��� 
�
� PN = {p1, p2, p3, p4} � ���������
TN = {t1, t2, t3}� �� ������� t2, t3 � �����
����������� 5t2 � 
����
�����	� �$ �$ �����
����������	 
 ������	 �����(��	6� � t1 � -�
���
����������	$ L������ ��
��� d �����(�� ��������� ����������
� ���7
ΩN (t1) = m1λ, ΩN(t2) = 0, ΩN(t3) = θ� ��� m1 � ������
��� ��3�� �

�
�� p1� ��� ��� t1 �
��� ��
�� ����
�
�	 �� �������� ������$ &������
�� ���*�� �*�������� 
 
������
���� 
 �� ����
�$ >�
������������	 t1
�*������
 ����� e� 
��������	 t2 � ��
���
���
 i� �����
����������	
t3 � ��� d$

A�
�� ������������'�
� 
����'9�
 �*����
7 p1 � ������
��� ���

�'9�� ��
�������	 5`k][WlV6� p2 � ������
��� ��
�������	� ��������
3�� �*
��(������ 5mUncUbolV6� p3 � ��
������� �� 
����
��	 
������
5pUSq]IU6� p4 � 
����
��� 
������ 
��*���� 5\SUU6$

RS(N) 
�
���� �� 3�
�� 
���������� ����
�����'9�� ���
�(���

�
������ 
�
��
�7 M1 = (3, 0, 0, 1) � �*��
������ �*
��(������ ���
�
��
�������
� ��� 
��*����	 
����
��	 
������ 5�`r\6�M2 = (2, 1, 0, 1)�
�*��
������ �*
��(������ ���
� ��
�������
� � ����� �*
��(������
����
 ��� 
��*����	 
����
��	 
������ 5<`rmr\6� M3 = (2, 0, 1, 0) �
�*��
������ �*
��(������ ���
� ��
�������
� � �*
��(�����U �����
�� 5<`rp6� M4 = (1, 1, 1, 0) � �*��
������ �*
��(������ ����
 ��
��
������
� ����� �*
��(������ ����
 � �*
��(�����U ������ 5`rmrp6�
M5 = (0, 2, 1, 0) � ����� �*
��(������ ���
� ��
�������
� � �*
��(����
��U ������ 5<mrp6� M6 = (1, 2, 0, 1) � �*��
������ �*
��(������ ����

��
�������
 � ����� �*
��(������ ���
� ��� 
��*����	 
����
��	 
����
��� 5`r<mr\6$

A��������� M2 � M6 � �
����'9��� �$ �$ ���
� ���*������ � ��� �
�������� ��� 
������
����� ������ �*
��(������ 
���� ��
�� �����
� ���

��*����	 
����
��	 
������$ ,
������� 
��������� � ��	
����������$
C���
 �*����
� RST (N) = {M1,M3,M4,M5} � RSV (N) = {M2,M6}$ ;
�
����'9�� 
��������� 
�(�� �
��'���� �� ��


������� � ��������
������ ��������� 
�
��
�� �
������� �� �����	� � 
����9����	 ����
��
��(�
�
��$ &����	 RG(N) � 
����9����	 RG∗(N) ����� ��
���
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��� �� +��� ������� � �� ���
�$ � �����&�

�$ ����� �����!������

(�
�
�� )%%& N ���(� ���*��(��� �� ��
$ "$
&������� � �� ��
�� d �����(�� �
�'� 
����'9�' ������������'$
2$ D���� ��
������� �*��
�� ������(���� �* �*
��(������� �� ��

�
������� ���
���� -�
������������ ��
������������ 
 ����
���
��
 m1λ� �� ���������� �*
��(������ 5������� t16$

<$ D���� �*
��(������ �������� � 
����
��� 
������ ��
��� �*
���
(������ �� 
������ ��������
� 
��������� �$ �$ 
 �����(��	 0 5���
����� t26$

�$ D���� ��
������� �������
� �� 
����
��	 
������� �� �� ���
� θ
�� *���� �*
��(�� 5������� t36$

,����������� ���*����
�� ��� ���
���
�
�� ���
����	 ������� ����
����� ���������� ��� ��� ����
������	 �����
����������	 ������� t3

�(�� *��� ����
��
 ������ ���������� 5�� 
�(�� *��� ���������� 


�
�
 
�*�	6 � ��(��	 ��
��(�
�	 
���������$ 0�
���
� ��� t3 � ��$
������(��4 ��1��
�
��4 �������$

%�
������ 
����9������ ����� ��
��(�
�
�� RG∗(N) � ��	
����
������� 
��������� M1 ∈ ME(N) � M3,M4,M5 ∈ MD(N)$ &�-��
�
��� ������	3��� ������� �� ���� ������
������� 
����'9�
 �*����
7
M3 �→M ′

1, M4 �→M ′
2, M5 �→M ′

3, M1 �→M ′
4$

&����� � 
����9����� AC& ��� H/AJ� � ���(� A/& � ����������
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��*�������� �����
������������ �������� ������7

Q =

⎡
⎢⎢⎣

−2λ 2λ 0 0
0 −λ λ 0
0 0 0 0
3λ 0 0 −3λ

⎤
⎥⎥⎦ , Q′ =

⎡
⎢⎢⎣

−2λ 2λ 0 0
0 −λ λ 0
0 0 0 0
0 0 0 0

⎤
⎥⎥⎦ ,

Δ =

⎡
⎢⎢⎣

0 0 0 1
1 0 0 0
0 1 0 0
0 0 0 1

⎤
⎥⎥⎦ .

A�������� -�
������� ������7

eQ
′θ =

⎡
⎢⎢⎣
e−2λθ e−λθ(1 − e−2λθ) (1 − e−λθ)(1 − e−2λθ) 0

0 e−λθ 1 − e−λθ 0
0 0 1 0
0 0 0 1

⎤
⎥⎥⎦ .

;�
������� ��
���
���
 ��������
��	 
��*�������� �����
������
������� �������� 
�������� -�
������� ������7

eQ
′θΔ =

⎡
⎢⎢⎣
e−λθ(1 − e−2λθ) (1 − e−λθ)(1 − e−2λθ) 0 e−2λθ

e−λθ 1 − e−λθ 0 0
0 1 0 0
0 0 0 1

⎤
⎥⎥⎦ .

A/& ��� /)/AJ EDTMC∗(N)� ��
�������	 �� �
���� RG∗(N) �
���*��(����	 �� ��
$ 2.� ������7

P =

⎡
⎢⎢⎣
e−λθ(1 − e−2λθ) (1 − e−λθ)(1 − e−2λθ) 0 e−2λθ

e−λθ 1 − e−λθ 0 0
0 1 0 0
1 0 0 0

⎤
⎥⎥⎦ .

0�
���
� ��� eQ
′θΔ ��������
� �� P ��
� ��� ������� 
 ������� (4, 4)

�����	 
������ ����
�
����
� � ������' (4, 1) ��
�����	$ >�� 
�������

������� ��
�����' ��������	 
������ 
������
���'9�	 ��������
 ��

��������� M ′

4 ∈ ME(N)� ����(�'9�
� �
������� ��
������� �����
����
�� 5� ��3�
 
����� -�� ��������
�� 
��*�������� 
���������� ���
������ i ��
�� -�
�������������� e6$ 1���
 ��������� ��� -��
��� (4, 1)
����
������� ��������
�� 

��� 
�
�����	 � ���������� ��
�����������
��
�� 
��*�������	 e+ i$
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��� ��� '+'9: ��� +��� �������

/ ������	 
����� P ����
������	 ��������	 -��
��� � ������� �
������� (3, 2)� ��� 
������
����� ��
������������
�� d+ i$

/� �����	 
����� P ��������� -��
���� �������
� � �������� (2, 1)�

������
���'9�	 ��
������������
�� d+ i� � (2, 2)� 
������
���'9�	 ���

������������
�� e+ d+ i$

/ �����	 
����� P ��������� -��
���� �������
� � �������� (1, 1)�

������
���'9�	 ��
������������
�� e + d + i� � (1, 2)� 
������
���'�
9�	 ��
������������
�� e + e + d + i� � ���(� (1, 4)� 
������
���'9�	
��
������������
�� d$

N��*������ LA/ ?�������@ ��� /)/AJ ������
� ��3����
 
�����
'9�	 
�
��
� ����	��� ��������	7⎧⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎩

(1 − e−λθ + e−3λθ)ψ1 − e−λθψ2 = ψ4,
(1 − e−λθ)(1 − e−2λθ)ψ1 = e−λθψ2,
ψ3 = 0,
e−2λθψ1 = ψ4,
ψ1 + ψ2 + ψ3 + ψ4 = 1.

/ ���������� �������


ψ =
1

1 + e−2λθ + 2e−3λθ
(e−λθ, (1 − e−λθ)(1 − e−2λθ), 0, e−3λθ).

C�� ��� �����
����������	 ������� t3 ������
�
�	� �� SJ(M1) =
SJ(M2) = θ$ &�-��
� ������ 
������� ���
��� ���*������ � 
��������
��� �����7

SJ =
(
θ, θ, θ,

1
3λ

)
.

/���3����� �� SJ 
��*������ LA/ ψ �
��7(
ψ1θ, ψ2θ, 0,

ψ4

3λ

)
.



0, ������
�� �
���������� '��� -

/��
� ���*������ � 
����������M1 �M2 ���(�� *��� ������
����
������ 
�(�� ��
� � 
���������	 M3$ &�
��

ck =

θ∫
0

e−kλxdx =
1 − e−kλθ

kλθ
(1 ≤ k ≤ 3).

C���� 
������ ����*��������� ������7

C =

⎡
⎢⎢⎣
c2 c1 − c3 1 − c1 − c2 + c3 0
0 c1 1 − c1 0
0 0 1 0
0 0 0 1

⎤
⎥⎥⎦ .

;�
������� ��
���
���
 
������ ����*��������� ����3����� 
���
*������ LA/ �
��7

(
ψ1θc2, ψ1θ(c1 − c3) + ψ2θc1, ψ1θ(1 − c1 − c2 + c3) + ψ2θ(1 − c1),

ψ4

3λ

)
.

,
����
� ���
��������� ��
������' ����3����' 
��*�����' LA/�
�������� �� �� 
�

� 
�*
������� ��
��������$ C���
 �*����
� 
��*����
��� LA/ ��� )%%& �������� ���7

ϕ =
(
ψ1c2, ψ1(c1 − c3) + ψ2c1, ψ1(1 − c1 − c2 + c3) + ψ2(1 − c1),

ψ4

3λθ

)
×(

ψ1 + ψ2 +
ψ4

3λθ

)−1

.

2�0� ��-(%�

,����������� ��3� ����
������� )%%& �
��
������ �
�����������
����� �
� �������� 
������
���'� ������
�� �����
 �������
��
� ��� �
��


�������
 ���
���$ ,����� � ������ 
������� ����� ������ �������
�� 
�������'� ���������� �������
��� ��
���� *���� �������$ H� ��(�
���
�� ��� ����3���� ��������
�� ���*�� ��
���� ��������� LN ���
��


�������	 )%%&� ���
�����'9�� ��������
 
����'9�� ��	
����7
LN (t1) = Require, LN(t2) = τ, LN(t3) = Serve$ C�
�� � �����(�� ���
����� ���
����� ��	
����
$ C���� � ��3�
 ���
��� ��
� Require *����
����� λ� �����(�� τ � 0� � �����(�� Serve � θ$

)%%& � ���������� ,%%& ���
�(��
��' �������� ������������
���
��������� �����(�� ��-�
������������� ���������� � �� ������
�������� ��� � ,%%&$ C���
 �*����
� �*���9�� ���

 ��
���������	



������� ��	� �������������� ���� ����� 0.

��������
��	 �����(�� ���������$ >�� ��������� 
����������� ������
��� ����
���
��� 
�
��
� *���� �
��
������
 �*����
� ��
������ -�
�
������������� ��
���������� �� 
����� 
������ ���� ��3� ���*�� ����
*��(���� ���������
��� 
�
��
� � ��
������� ������� ��
���������� ��
������
� 
�9�
������
 ��
3������
 ���
������� ���

�$

,����� �� ���������� 
�������'9�	 
��
�*��
�� ��� �������� � *��
��� ������������
� ���� %%& ��������
� ������� �����
�����
 
��(�
��
�� ��3���� ��
�������� 
�����	$ / ��


�������
 ���
��� ��*�����
��� �������������	 ��3��� 
������
���'9�	 ������
� ��
������'� 
��
9�
������ �
��(���� ����
����� ���������
���� ��3���� � ��� �������
����$ / 
����� )%%& �
������ 
��(��
�� ����'����
� � ���*����
�
��
�*��9���� 
����� � 
������������ ����
����� 
�������� -�
������$
,*���� 
������� -�
������� ������� ����
��'�
� ��� ��������� ���
3���� )%%&� ����'�
� �������� �����(����
�� �$ �$ 
 *���3�
 �����
��
���
 ������� -��
�����$ H� ���
� ����
����� ��
��� ����� *�
��� 

����������
 ���������� 
������ � ���(� ������������ �����
���������
���� � -�
�������������� ���
��� �����(�� ������������ ���������$

M9� *���� 
��(��
 
���� *� ��3���� *�� ����������� �� ������
��
�� �����
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4� <������� =�=� >����� ������
����$� 	 9�? (����� 4-31� 	 /., ��
,� 6
���
�� <�'� @��� ������ ������
����$� 	 9�? (����� 4-1-� 	 /55 ��
.� @���� '�A� ���� ������ 	 9�? (����� 4-3/� 	 415 ��
/� '�
�%��� =�+� @��� ������ �����$
�� ���%������ 	 9�? (����� 4-20� 	 .4- ��
0� BCD EFG HCIJK L�M�N� ODKFGBCI KPQFE RSISTGFE NFKGP DFKJ CDE KUFPG CDCIVPJ WW XFRK�
YSKFJ PD ZSQ[TK� \RP� 	 4--.� 	 ]SI� 1-4� 	 N� /0.^/2,�

1� BCD EFG HCIJK L�M�N� _JPD` PDKFGBCI KPQFE RSISTGFE NFKGP DFKJ KS RCIRTICKF [FGaSGQCDRF
bSTDEJ WW ObPE� 	 4--/� 	 ]SI� 2-/� 	 N� /,0^///�

2� BCD EFG HCIJK L�M�N�� BCD cFF d�M�� eFPfFGJ c�H� HDCIVJPJ Sa EPJRGFKF�KPQF JKSRUCJKPR
NFKGP DFKJ WW \KCKPJKPRC YFFGICDEPRC� 	 ,555� 	 ]SI� 0/� YS ,� 	 N� ,.2^,00� 	
��������������	��	�
�	�
�����������������	�	������� ��������������������	���

3� BCD EFG HCIJK L�M�N�� gEPfh M�H� HDCIVJPJ Sa GCPIiCV JKCKPSDJ bV QFCDJ Sa PDKFGBCI
KPQFE RSISTGFE NFKGP DFKJ WW eFCI jPQF \VJKFQJ� 	 4--0� 	 ]SI� -� YS .� 	 N� ,/4^,1.�
	 ������������	��
	���	

�����
������	��

-� kCIbS l� ODKGSETRKPSD KS JKSRUJKPR NFKGP DFKJ WW XFRK� YSKFJ PD ZSQ[TK� \RP� 	 ,555�
	 ]SI� ,5-5� 	 N� 3/^400�

45� kCIbS l�� kGTFII \�Z�� lUCDKC \� ZSQbPDPD` mTFTFPD` DFKiSGh CDE `FDFGCIPnFE
JKSRUCJKPR NFKGP DFK QSEFIJ aSG KUF CDCIVJPJ Sa JSQF bISRhPD` [UFDSQFDC WW Oooo
jGCDJCRKPSDJ SD \SaKiCGF oD`PDFFGPD`� 	 4-31� 	 ]SI� 4,� YS /� 	 N� 014^021�

44� kFGKUSQPFT k�� pPCn M� MSEFIIPD` CDE BFGPqRCKPSD Sa KPQF EF[FDEFDK JVJKFQJ TJPD`
KPQF NFKGP DFKJ WW ObPE� 	 4--4� 	 ]SI� 42� YS .� 	 N� ,0-^,2.�

4,� kFGDCGEP \� lGFCK\NY� BFGJPSD ,�5�,� _JFGrJ QCDTCI� 	 NFGaSGQCDRF oBCITCKPSD
lGST[� sCRTIKV Sa ZSQ[TKFG \RPFDRF� _DPBFGJPKV Sa jTGPD� OKCIV� ,55,� 	
����������	��	�
���	��������������������������������
��
	���

4.� kCTJF s�� dGPKnPD`FG N�\� \KSRUCJKPR NFKGP DFKJ? CD PDKGSETRUKPSD KS KUF KUFSGV� 2nd

oEPKPSD� 	 ]PFiF` ]FGIC`� ,55,� 	 ,43 [�
4/� kTRUUSIn N�� jCGCJVTh O�]� YFK CDE CI`FbGCPR C[[GSCRUFJ KS [GSbCbIPJKPR QSEFIPD` WW

tSPDK kTIIFKPD Sa YZZ u OO\� \FG�? ZSQ[TK� \RP� 	 ,554� 	 OJJ� 40� 	 N� .4^1/� 	
����������	���	
� 	��������
���������
��
!!	"��

40� kTRUUSIn N� H DSKPSD Sa FmTPBCIFDRF aSG JKSRUCJKPR NFKGP DFKJ WW XFRK� YSKFJ PD ZSQ[TK�
\RP� 	 4--0� 	 ]SI� -.0� 	 N� 414^435�

41� kTRUUSIn N� OKFGCKPBF EFRSQ[SJPKPSD CDE C``GF`CKPSD Sa ICbFIFE l\NYJ WW ObPE� 	
4--3� 	 ]SI� 4/,5� 	 N� ,,1^,/0�

42� ZPCGES l�� ZUFGhCJSBC X�� dSKSB ]�� eShPRhP j� MSEFIPD` C JRCICbIF UP`U�J[FFE
PDKFGRSDDFRK iPKU JKSRUCJKPR NFKGP DFKJ WW NGSR� Sa 6th ODKFGDCK� LSGhJUS[ SD NFKGP
YFKJ CDE NFGaSGQCDRF MSEFIJ� 	 YSGKU ZCGSIPDC� _\H? Oooo ZSQ[TKFG \SRPFKV NGFJJ�
4--0� 	 N� 3.^-,� 	
����������	��
	��	!��������
�
�#�!$%���� ���&����������
��'(	���

43� ZPCGES l�� lFGQCD e�� XPDEFQCDD Z� H RUCGCRKFGPnCKPSD Sa KUF JKSRUCJKPR [GSRFJJ
TDEFGIVPD` C JKSRUCJKPR NFKGP DFK WW Oooo jGCDJCRKPSDJ SD \SaKiCGF oD`PDFFGPD`� 	
4--/� 	 ]SI� ,5� YS 2� 	 N� 051^040� 	
����������	!�	��	�����!��������)���''*�+++��+������!����"����
	���

4-� ZUGPJKSv O� jFJKPD` FmTPBCIFDRF CDE aTIIV CbJKGCRK QSEFIJ Sa [GSbCbPIPJKPR [GSRFJJFJ WW
XFRK� YSKFJ PD ZSQ[TK� \RP� 	 4--5� 	 ]SI� /03� 	 N� 4,3^4/5�

,5� ZPCGES l� pPJRGFKF KPQF QCGhSBPCD JKSRUCJKPR NFKGP DFKJ WW YTQFGPRCI \SITKPSD Sa
MCGhSB ZUCPDJ W oE� bV L�t� \KFiCGK� 	 dITiFG HRCEFQPR NTbIPJUFGJ� 4--0� 	 N� ..-^
.03� 	 ����������	!�	��	�����!��������)���''(,�-�����!����	���
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,4� ZUPSIC l�� MCGJCD M�H�� kCIbS l�� ZSDKF l� lFDFGCIPnFE JKSRUCJKPR NFKGP DFKJ? C
EFqDPKPSD CK KUF DFK IFBFI CDE PKJ PQ[IPRCKPSDJ WW Oooo jGCDJCRKPSDJ SD \SaKiCGF
oD`PDFFGPD`� 	 4--.� 	 ]SI� 4-� YS ,� 	 N� 3-^452�

,,� ZPCGES l�� YPRSI p�� jGPBFEP d�\� pPJRGFKF FBFDK JPQTICKPSD Sa wTPE JKSRUCJKPR NFKGP
DFKJ WW Oooo jGCDJCRKPSDJ SD \SaKiCGF oD`PDFFGPD`� 	 4---� 	 ]SI� ,0� YS ,� 	 N�
,52^,42� 	 ����������	!�	��	�����!��������)���'''�+++��+�.��,����
	��

,.� pFUDFGK t�� sGFPUFPK t�� xPQQFGQCDD H� LSGhwSi QSEFIPD` CDE [FGaSGQCDRF
FBCITCKPSD iPKU RSISTGFE JKSRUCJKPR NFKGP DFKJ WW NGSR� Sa HHHO \[GPD` \VQ[� \FGPFJ
,555� LSGhJUS[ SD kGPD`PD` dDSiIFE`F KS kTJPDFJJ NGSRFJJFJ� 	 \KCDaSGE� _\H� ,555�
	 N� 4.-^4/4� 	
����������)������	���)	�
�� ��
�����	������������������/���$�0���
�����	��

,/� pT`CD t�k�� jGPBFEP d�\�� lFPJK e�M�� YPRSIC ]�s� oyKFDEFE JKSRUCJKPR NFKGP DFKJ?
C[[IPRCKPSDJ CDE CDCIVJPJ WW NGSR� Sa 10th ODKFGDCK� \VQ[� SD ZSQ[TKFG NFGaSGQCDRF
MSEFIIPD`� MFCJTGFQFDK CDE oBCITCKPSD� 	 NCGPJ� HQJKFGECQ? oIJFBPFG� 4-3/� 	 N�
052^04-�

,0� sGCDRFJRUPDPJ l�� pSDCKFIIP \�� lCFKC e� lGFCK\NY ,�5? lGC[UPRCI FEPKSG CDE CDCIVnFG
aSG KPQFE CDE JKSRUCJKPR NFKGP DFKJ WW NGSR� Sa 21st ODKFGDCK� ZSDa� SD H[[IPRCKPSD CDE
jUFSGV Sa NFKGP YFKJ� 	 HCGUTJ� pFDQCGh� ,555� 	 N� /.^05� 	
����������	�����	��	� ��
��������!����
1���
����%���
�����	���

,1� sGPRhJ e�� cPGFI Z�� LFIIJ \�� jGPBFEP d� jUF EFBFIS[QFDK Sa CD PDKF`GCKFE QSEFIPD`
FDBPGSDQFDK WW NGSR� Sa LSGIE ZSD`GFJJ SD \VJKFQJ \PQTICKPSD� 	 \PD`C[TGF� 4--2�
	 N� /24^/21� 	 ����������	�!	�� �	�����!����
����+/��!��'2	��

,2� sISGPD l�� YCKhPD \� XFJ GFJFCTy EF NFKGP JKSRUCJKPmTFJ WW jFRUDPmTF FK \RPFDRF
ODaSGQCKPmTF� 	 4-30� 	 ]SI� /� YS 4� 	 N� 4/.^415�

,3� lPTC H�� ZSGSDC p� kPbIPS`GC[UV SD UVbGPE NFKGP DFKJ� 	 pF[CGKQFDK Sa
oIFRKGSFD`PDFFGPD` CDE oIFRKGSDPRJ� _DPBFGJPKV Sa ZC`IPCGV� OKCIV� ,55,� 	
�������)���	����	�
�!�	������
�

,-� lFGQCD e� HDCIVJPJ Sa JKSRUCJKPR NFKGP DFKJ iPKU DSD�Fy[SDFDKPCIIV EPJKGTbTKFE qGPD`
KPQFJ? NU�p� jUFJPJ W jFRUDPRCI _DPBFGJPKV Sa kFGIPD� 	 kFGIPD� lFGQCDV� 4--/�

.5� lFGQCD e�� XPDEFQCDD Z� HDCIVJPJ Sa JKSRUCJKPR NFKGP DFKJ bV KUF QFKUSE Sa
JT[[IFQFDKCGV BCGPCbIFJ WW NFGaSGQCDRF oBCITCKPSD� 	 4--/� 	 ]SI� ,5� YS 4^.� 	
N� .42^..0�

.4� lGPbCTES M�� \FGFDC M�� cSGBzCKU H�� kSbbPS H� sITPE JKSRUCJKPR NFKGP DFKJ CT`QFDKFE
iPKU wTJU�STK CGRJ? QSEFIIPD` CDE CDCIVJPJ WW pPJRGFKF oBFDK pVDCQPR \VJKFQJ?
jUFSGV CDE H[[IPRCKPSDJ� 	 ]SI� 44� YS 4^,� 	 ,554� 	 N� -2^442� 	
����������	��
	�
���
	����)�))���3�3#�4����+/���,,4�����������	����

.,� cCBFGhSGK k�e� MCGhSBPCD QSEFIJ aSG [FGaSGQCDRF CDE EF[FDECbPIPKV FBCITCKPSD WW
XFRK� YSKFJ PD ZSQ[TK� \RP� 	 ,555� 	 ]SI� ,5-5� 	 N� .3^3.�

..� cFGnS` _� sSGQCI QFKUSEJ aSG [FGaSGQCDRF FBCITCKPSD WW ObPE�� 	 N� 4^.2�

./� cFPDEI H�� lFGQCD e� NFGaSGQCDRF QSEFIPD` Sa Oooo 35,�44 iPGFIFJJ XHYJ iPKU
JKSRUCJKPR NFKGP DFKJ WW NFGaSGQCDRF oBCITCKPSD� 	 ,554� 	 ]SI� //� 	 N� 4.-^41/� 	
�������
��
�)	!�	���
1���	���	!��5� �������
�����������	����

.0� cSGKSD l�� dSiCGJRUPh M� pPJRGFKF^RSDKPDTSTJ QSEFIPD` TJPD` UVbGPE JKSRUCJKPR NFKGP
DFKJ WW NGSR� Sa 11th oTGS[FCD \PQTICKPSD \VQ[�� 	 oGICD`FD�YTGQbFG`� lFGQCDV�
4---� 	 ������������	�
������� 	�
����
�
1�
	������� �����!����''	����

.1� cSGKSD l�� dTIhCGDP ]�l�� YPRSI p�M�� jGPBFEP d�\� sITPE JKSRUCJKPR NFKGP DFKJ? KUFSGV�
C[[IPRCKPSDJ� CDE JSITKPSD KFRUDPmTFJ WW oTGS[FCD t� Sa g[FGCKPSDJ eFJFCGRU� 	 4--3�
	 ]SI� 450� YS 4� 	 N� 43/^,54� 	
����������	!�	���������	�����
�!�
��������!&�
6�78	����

.2� cCCJ N�t�� \UFEIFG l�\� \KSRUCJKPR NFKGP DFK GF[GFJFDKCKPSD Sa EPJRGFKF FBFDK JPQTICKPSDJ
WW Oooo jGCDJ� SD \SaKiCGF oD`� 	 4-32� 	 ]SI� 40� YS /� 	 N� .34^.-.�

.3� cPGFI ZU�� jT{D k�� jGPBFEP d�\� \NYN? JKSRUCJKPR NFKGP DFKJ� ]FGJPSD 1�5 WW XFRK�
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YSKFJ PD ZSQ[TK� \RP� 	 ,555� 	 ]SI� 4231� 	 N� .0/^.02� 	
����������	��	�� �	����� �����
%��������������
�	����

.-� cSIIPECV M�H�� ]FGDSD M�d� H `FDFGCIPnFE KPQFE NFKGP DFK QSEFI aSG [FGaSGQCDRF
CDCIVJPJ WW Oooo jGCDJ� SD \SaKiCGF oD`� 	 4-32� 	 ]SI� 4.� YS 4,� 	 N� 4,-2^4.45�

/5� tFDJFD d� ZSISTGFE NFKGP DFKJ� kCJPR RSDRF[KJ� CDCIVJPJ QFKUSEJ CDE [GCRKPRCI TJF� 	
kFGIPD? \[GPD`FG ]FGIC`� 4--1� 	 ,./ [�

/4� dTIhCGDP ]�l� MSEFIPD` CDE CDCIVJPJ Sa JKSRUCJKPR JVJKFQJ� 	 XSDESD? ZUC[QCD CDE
cCII� 4--0� 	 1,/ [�

/,� XCGJFD d�� \hST H� kPJPQTICKPSD KUGST`U [GSbCbPIPJKPR KFJKPD` WW ODaSGQCKPSD CDE
ZSQ[TKCKPSD� 	 4--4� 	 ]SI� -/� 	 N� 4^,3�

/.� MCGJCD M�H� \KSRUCJKPR NFKGP DFKJ? CD FIFQFDKCGV PDKGSETRKPSD WW XFRK� YSKFJ PD
ZSQ[TK� \RP� ^ 4--5� 	 ]SI� /,/� 	 N� 4^,-�

//� MCGJCD M�H�� kCIbS l�� kSbbPS H�� FK CI� jUF FvFRK Sa FyFRTKPSD [SIPRPFJ SD KUF
JFQCDKPRJ CDE CDCIVJPJ Sa JKSRUCJKPR NFKGP DFKJ WW Oooo jGCDJ� SD \SaKiCGF oD`� 	
4-3-� 	 ]SI� 40� YS 2� 	 N� 3.,^3/1�

/0� MCGJCD M�H�� kCIbS l�� ZUPSIC l�� ZSDKF l� lFDFGCIPnFE JKSRUCJKPR NFKGP YFKJ
GFBPJPKFE? GCDESQ JiPKRUFJ CDE [GPSGPKPFJ WW NGSR� Sa ODKFGD� LSGhJUS[ SD NFKGP YFKJ
CDE NFGaSGQCDRF MSEFIJ� MCEPJSD� _\H� 	 LCJUPD`KSD? Oooo ZSQ[TKFG \SRPFKV
NGFJJ� 4-32� 	 N� //^0.�

/1� MCGJCD M�H�� kCIbS l�� ZUPSIC l�� FK CI� HD PDKGSETRKPSD KS `FDFGCIPnFE JKSRUCJKPR
NFKGP DFKJ WW MPRGSFIFRGSDPRJ CDE eFIPCbPIPKV� 	 4--4� 	 ]SI� .4� YS /� 	 N� 1--^2,0�

/2� MCGJCD M�H�� ZUPSIC l� gD NFKGP DFKJ iPKU EFKFGQPDPJKPR CDE Fy[SDFDKPCIIV EPJKGPbTKFE
qGPD` KPQFJ WW XFRK� YSKFJ PD ZSQ[TK� \RP�� 	 4-32� 	 ]SI� ,11� 	 N� 4.,^4/0�

/3� MCGJCD M�H�� ZSDKF l�� kCIbS l� H RICJJ Sa `FDFGCIPnFE JKSRUCJKPR NFKGP DFKJ aSG
[FGaSGQCDRF FBCITCKPSD Sa QTIKP[GSRFJJSG JVJKFQJ WW HZM jGCDJ� SD ZSQ[TK� \VJ� 	
4-3/� 	 ]SI� ,� YS ,� 	 N� -.^4,,�

/-� MCGJCD M�H�� ZUPSIC l�� sTQC`CIIP H� OQ[GSBPD` KUF F{RPFDRV Sa KUF CDCIVJPJ Sa p\NY
QSEFIJ WW XFRK� YSKFJ PD ZSQ[TK� \RP� 	 4--5� 	 ]SI� /,/� 	 N� .5^05�

05� MFGIPD N�� sCGbFG p�t� eFRSBFGCbPIPKV Sa RSQQTDPRCKPSD [GSKSRSIJ? PQ[IPRCKPSDJ Sa C
KUFSGFKPRCI JKTEV WW Oooo jGCDJ� SD ZSQQTDJ� 	 4-21� 	 ]SI� ,/� YS -� 	 N� 45.1^
45/.�

04� MSIISV M� NFGaSGQCDRF CDCIVJPJ TJPD` JKSRUCJKPR NFKGP DFKJ WW Oooo jGCDJ� SD ZSQ[TK�
	 4-3,� 	 ]SI� .4� YS -� 	 N� -4.^-42�

0,� MSIISV M� pPJRGFKF KPQF JKSRUCJKPR NFKGP DFKJ WW Oooo jGCDJ� SD \SaKiCGF oD`� 	
4-30� 	 ]SI� 44� YS /� 	 N� /42^/,.�

0.� MTfPRC O�e� ZSQ[CGPJSD Sa KUGFF \NY NCRhC`FJ? lGFCK\NY 4�1� p\NYFy[GFJJ 4�,�
\NYN .�5� 	 oEPDbTG`U� 4--/� 	 05 [� 	 �jFRU� eF[� W _DPB� Sa oEPDbTG`U� ZSQ[TKFG
\VJKFQJ lGST[� pF[CGKQFDK Sa ZSQ[TKFG \RPFDRF| ]SI� oZ\�Z\l�/�-/�� 	
����������	�!��	�
�������!�	��	�!	� ���������+�����9�*�'*	��	1"

0/� MTGCKC j� NFKGP DFKJ? [GS[FGKPFJ� CDCIVJPJ CDE C[[IPRCKPSDJ WW NGSR� Sa KUF Oooo� 	
4-3-� 	 ]SI� 22� YS /� 	 N� 0/4^035�

00� YSF t�p�� YTKK l�t� MCRGS F�DFK GF[GFJFDKCKPSD Sa [CGCIIFI JVJKFQJ WW Oooo jGCDJ� SD
ZSQ[TK� 	 4-2.� 	 ]SI� .4� YS -� 	 N� 243^2,2�

01� NFKFGJSD t�X� NFKGP DFK KUFSGV CDE QSEFIPD` Sa JVJKFQJ� 	 oD`IFiSSE ZIPvJ� YFi
tFGJFV� NGFDKPRF cCII� 4-34� �������� 
� ������$ �
��? �������
 +!� >����� ����$
����� � ����������
�� ������� 	 9�? 9��� 4-3/��

02� NFKGP Z�H� dSQQTDPhCKPSD QPK HTKSQCKFD? NU�p� KUFJ� W _DPBFGJPK}CK kSDD� \RUGPaKFD
EFJ ODJKPKTKJ a}TG ODJKGTQFDKFIIF MCKUFQCKPh� 4-1, �PD lFGQCD��

03� eCQRUCDECDP Z� NFGaSQCDRF FBCITCKPSD Sa CJVDRUGSDSTJ RSDRTGGFDK JVJKFQJ bV KPQFE
NFKGP DFKJ? NU�p� KUFJ� W MCJJCRUTJFKKJ ODJKPKTKF Sa jFRUDSIS`V� ZCQbGPE`F� 4-2.�

0-� eFPJP` L� NFKGP DFKJ? CD PDKGSETRKPSD� 	 oHjZ\ MSDS`GC[UJ SD jUFSG� ZSQ[TK� \RP�
]SI� /� 	 kFGIPD? \[GPD`FG ]FGIC`� 4-30�
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15� eCQCQSSGKUV Z�]�� cS l�\� NFGaSGQCDRF FBCITCKPSD Sa CJVDRUGSDSTJ RSDRTGGFDK
JVJKFQJ TJPD` NFKGP DFKJ WW Oooo jGCDJ� SD \SaKiCGF oD`� 	 4-35� 	 ]SI� 1� YS
0� 	 N� //5^//-�

14� \PaChPJ t�� NFGaSQCDRF FBCITCKPSD Sa JVJKFQJ TJPD` DFKJ WW XFRK� YSKFJ PD ZSQ[TK� \RP�
	 4-35� 	 ]SI� 3/� 	 N� .52^.4-�

1,� \VQSDJ s�t�L� jUF EFJRGP[KPSD CDE EFqDPKPSD Sa mTFTFPD` JVJKFQJ bV DTQFGPRCI NFKGP
DFKJ WW HTJKGCIPCD jFIFRSQQTDPRCKPSDJ eFJFCGRU� 	 4-35� 	 ]SI� 4.� YS ,� 	 N� ,5^.4�

1.� \VQSDJ s�t�L� ODKGSETRKPSD KS DTQFGPRCI NFKGP DFKJ� C `FDFGCI `GC[UPRCI QSEFI Sa
RSDRTGGFDK [GSRFJJPD` JVJKFQJ WW ObPE� 	 ]SI� 4.� YS ,� 	 N� ,3^.,�

1/� jT{D k�� ZUFD p�\�� jGPBFEP d�\� ZSQ[CGPJSD Sa UVbGPE JVJKFQ CDE wTPE JKSRUCJKPR
[FKGP DFKJ WW pPJRGFKF oBFDK pVDCQPR \VJKFQJ? jUFSGV CDE H[[IPRCKPSDJ� 	 ,554� 	
]SI� 44� YS 4^,� 	 N� 22^-1� 	 ����������	��	�� �	����� �����
%�����������	��

10� jGPBFEP d�\�� dTIhCGDP ]�l� s\NYJ? wTPE JKSRUCJKPR NFKGP DFKJ WW XFRK� YSKFJ PD
ZSQ[TK� \RP� 	 4--.� 	 ]SI� 1-4� 	 N� ,/^.4� 	
����������	��	�� �	����� �����
%��������
'7	���

11� jT{D k�� jGPBFEP d�\� OQ[SGKCDRF JCQ[IPD` aSG KUF JPQTICKPSD Sa JKSRUCJKPR NFKGP
DFKJ CDE wTPE JKSRUCJKPR NFKGP DFKJ WW NGSR� Sa cP`U NFGaSGQCDRF ZSQ[TK� \VQ[��
HEBCDRFE \PQTICKPSD jFRUDSIS`PFJ ZSDa� 	 \FCKKIF� _\H� ,554� 	
����������	��	�� �	����� �����
%���������!����	��

12� LCD` t� jPQFE NFKGP DFKJ? KUFSGV CDE C[[IPRCKPSD� 	 dITiFG HRCEFQPR NTbIPJUFGJ�
4-30� 	 ,-5 [�

13� LSIKFG d�� lFGQCD e� \FRSDE SGEFG DSD�QCGhSBPCD wTPE JKSRUCJKPR NFKGP DFKJ WW
NGSR� Sa 3th LSGhJUS[ SD NFGaSGQCbPIPKV MSEFIPD` Sa ZSQ[TKFG CDE ZSQQTDPRCKPSD
\VJKFQJ� 	 ZUPRC`S� _\H� 4--1� 	 N� ,0^,3� 	
����������	!�	���)��
�
	���� ���
 ����!!�7	��

1-� LSIKFG d�� cSQQFI l� cVbGPE QSEFIIPD` iPKU JFRSDE SGEFG wTPE JKSRUCJKPR NFKGP DFKJ
WW NGSR� Sa LSGhJUS[ SD NCGCIIFI CDE pPJKGPbTKFE eFCI�jPQF \VJKFQJ� 	 lFDFBC�
\iPKnFGICDE� 4--2� 	 N� ,.-^,/.� 	 ����������	!�	���)��
�
	���� ���
 ��1�
�	��

25� LSIKFG d� \FRSDE SGEFG wTPE JKSRUCJKPR NFKGP DFKJ? CD FyKFDJPSD Sa l\NYJ aSG
C[[GSyPQCKF CDE RSDKPDTSTJ QSEFIIPD` WW NGSR� Sa LSGhJUS[ SD HDCIVKPRCI CDE
YTQFGPRCI MSEFIIPD` jFRUDPmTFJ� 1st LSGIE ZSD`GFJJ SD \VJKFQJ \PQTICKPSD� 	
\PD`C[TGF� 4--2� 	 N� .,3^..,� 	 ����������	!�	���)��
�
	���� ���
 ���
��	��

24� LSIKFG d� tTQ[ KGCDJPKPSDJ PD JFRSDE SGEFG s\NYJ WW NGSR� Sa 7th

ODKFGD� \VQ[� SD MSEFIPD`� HDCIVJPJ CDE \PQTICKPSD Sa ZSQ[TKFG CDE
jFIFRSQQTDPRCKPSD \VJKFQJ� 	 ZSIIF`F NCGh� _\H� 4---� 	 N� 401^41.� 	
����������	!�	���)��
�
	���� ���
 �����!���''	��

2,� xPfCI e�� ZPCGES l�� cSQQFI l� pPJRGFKF pFKFGQPDPJKPR CDE \KSRUCJKPR NFKGP YFKJ WW
NGSR� Sa 9th OjlWlO NGSaFJJPSDCI MFFKPD` ~MFJJTD`� MSEFIIPFGTD` TDE kFiFGKTD` BSD
eFRUFD� TDE dSQQTDPhCKPSDJJVJKFQFD�� 	 sGFPbFG`� lFGQCDV� kFGIPD? ]po�]FGIC`�
4--2� 	 N� 45.^442� 	 ����������	!�	��	�����!��������)���''2--3�����,	���

2.� xPQQFGQCDD H�� sGFPUFPK t�� cSQQFI l� pPJRGFKF KPQF JKSRUCJKPR NFKGP DFKJ aSG
QSEFIPD` CDE FBCITCKPSD Sa GFCI�KPQF JVJKFQJ WW NGSR� Sa LSGhJUS[ SD NCGCIIFI CDE
pPJKGPbTKFE eFCI jPQF \VJKFQJ� 	 \CD sGCDRPJRS� _\H� ,554� 	
���������&	!�	���)��
�
	�����"����5���:��/����	����

2/� xPfCI e� lFGQCD� e� H DFi C[[GSCRU KS EPJRGFKF KPQF JKSRUCJKPR NFKGP DFKJ WW XFRK�
YSKFJ PD ZSDKGSI CDE ODaSGQCKPSD \RP� 	 4--/� 	 ]SI� 4--� 	 N� 4-3^,5/�

20� xPQQFGQCDD H�� cSQQFI l� MSEFIIPD` CDE FBCITCKPSD Sa QCDTaCRKTGPD` JVJKFQJ
TJPD` EFEPRCKFE NFKGP DFKJ WW ODKFGD� t� Sa HEBCDRFE MCDTaCRKTGPD` jFRUDSIS`V� 	
4---� 	 ]SI� 40� YS ,� 	 N� 4.,^4.3� 	
���������&	!�	���)��
�
	�����"����5����0�-�	��	1"

21� xTbFGFh L�M� jPQFE NFKGP DFKJ CDE [GFIPQPDCGV [FGaSGQCDRF FBCITCKPSD WW NGSR� Sa
7th HDDTCI \VQ[� SD ZSQ[TK� HGRUPKFRKTGF� 	 XC kCTIF� sGCDRF� 4-35� 	 N� 33^-1�
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